CSIR LIFE SCIENCES SHIFT 1

Topic:- 703SH1_PARTA_CSIR_FEB22_SET1

1) AB is the diameter of a circle. The chord CD is perpendicular to AB intersecting itat P. If
CP=2 and PB=1, the radius of the circle is
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[Question ID = 1][Question Description =,104£1469_GP10__Q01]
1. 1

[Option ID = 1]
2. 2.5

[Option ID = 2]
3.2

[Option ID = 3]
4. 5

[OptionylD ='4]

2) A shopkeeper purchases a product for Rs.100 and sells it making a profit of 10%. The customer resells it to
the same shopkeeper incurring a loss of 10%. In these dealings the shopkeeper makes

QP gPIGICR U 3qurs @l Rs. 100 3 wdlcar 3 daem 33 10% ot i daar 3 spee 3l disl @1 3l goloicr @1 10% ofdrel HISK g a9 ST
3 33 clol-3ol Al GPIGIGR Pl f¥rerar 3

[Question ID = 2][Question Description = 102_1469_GP10__Q02]
1. No profit, no loss

OIS 191 AT BIfol olal
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[Option ID = 5]

2. Rs.11



[Option ID = 6]
3. Rs.1 visit: www.biologyscholar.com, or contact: +91-7021673266

[Option ID = 7]
4. Rs.20

[Option ID = 8]

3) The product of the perimeter of a triangle, the radius of its in-circle, and a number gives the area of the

triangle. The number is
fept feyerst bt uRfifer, sad siada ol fofsn aem ves T B IVIeItel 3 fYIST B SIgbel D ATl & IR 3

[Question ID = 3][Question Description = 103_1469_GP10__Q03]

1. 1/4

[Option ID = 9]
2. 1/3

[Option ID = 10]
3. 1/2

[Option ID = 11]
4. 1

[Option ID = 12]

4) starting from a point A you fly one mile south, then one mile east, then one mile'nerthiwhich brings you back
to point A. Which of the following MUST be true?

féig A 2 912 @3 gu 31U wo dict <fdr &l aw 334 3, b2 g dfict gd b 317, 3l v e 3aar o 4, i
MUl faig A UR aIuRl ol SAr 3 forafel 3 2 BT MAIRIBAT IS

[Question ID = 4][Question Description = 104_1469_GP10_"Q04]
1. You are at the North pole

3 3R ¢ga R 3
[Option ID = 13]
2. You are in the Eastern hemisphere
31y gdi sitetref 91 &
[Option ID = 14]
3. You are in the Western hemisphere
3 ufyst sitetref i &
[Option ID = 15]
4. You are at4he'South pole
3 Gy au &

[Option 1D%,16]

5)nThree boxes are coloured red, blue and green and so are three balls. In how many ways can one put the balls one in each
box such that no ball goes into the box of its own colour?

TIIcT, oflicl el 83 301 @ cilol f3cd aen diel 3l & fap=dl 9ff i3sq A DI sic Wil i sIiedl 3, o 39 @1 3l 31 @1
331 31661 81 VA Dol D fdbedol ybIR 37
[Question ID = 5][Question Description = 105_1469_GP10__QO05]

1 [Option ID = 17]
2 [Option ID = 18]
3 [Option ID = 19]
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6) There are two buckets A and B. Initially A has 2 litres of water and B is empty.

A+ ey berir 1 liFre ~F iatar e framctfarrad fFreamm A Fe B Fallensraed by o retrirmnime L
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[Question ID = 6][Question Description = 106_1469_GP10__Q06]
1. 5h

5 dcl @ d@1g

[Option ID = 21]
2. 4h

4 Gcl D 916

[Option ID = 22]
3. 3h

3 dcl @ dig

[Option ID = 23]
4. 2h

2 gcl D dig
[Option ID = 24]

7) Density of arice grain is 1.5 g/cc and bulk density of rice heap is 0.80 g/cc. If:a 1iitre container is completely filled with rice,
what will be the approximate volume of pore space in the container?

Qh dIdel D glol I Heled 8 1.5 g/ cc a2l daract @ ¢ P14l Hoked 0°80 g/cc 8 AfS 1 fere: @ uap ureg ol arac A G2
1R f&=1 Siren 3, Y Ui Ji Foeb Ferol T a3l 3IRIAG SIS cIIH3T

[Question ID = 7][Question Description = 107_1469_GP10_,Q07]
1. 350 cc

[Option ID = 25]
2. 465 cc

[Option ID = 26]
3. 550 cc

[Option ID = 27]
4, 665 cc

[Option ID = 28]

8) What is the minisnum number of moves required to transform figure 1 to figure 27 A
move isidefined as removing a coin and placing it such that it touches two other coins
in its new position.

C@)ﬁ> C%%)
Fig-1 Fig- 2
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[Question ID = 8][Question Description = 108_1469_GP10__Q08]
1. 1 [Option ID = 29]
2. 2 [Option ID = 30]
3. 3 [Option ID = 31]
4. 4 [Option ID = 32]

9) It takes 5 days for a steamboat to travel from A to B along a river. It takes 7 days to return from B to A. How many days
will it take for a raft to drift from A to B (assuming all speeds are constant)?

U EA Tferd ofrd ofél @ darda bl fSom 3t A 21 B dd 5 ol I ugacdl 3 oira B 21 A dd argd Ugziol di 7 fSol crerd 3
b I3T 982 A 3 B ad fpdol &6l 3 ugden (strol fop 21t siferai Ber 3)?

[Question ID = 9][Question Description = 109_1469_GP10__Q09]

1. 13 [Option ID = 33]

2. 35 [Option ID = 34]

3. 6 [Option ID = 35]

4. 12 [Option ID = 36]

10) How many times starting at 1:00 pm would the minuté&and Rour hands of a clock make an
angle of ;- with each other in the next 6 hours?

Rirotc 3iiz @i¢ &1 =i 1:00 pm A YRYU B3, 3PId 6 #@dd I fbdoll a1k Td G A 40° DI PIVI ToIRIBI?

[Question ID = 10][Question Description = 110_1469_GP10=Q10]
1. 6 [Option ID = 37]

2. 7 [Option ID = 38]

3. 11 [Option ID = 39]

4. 12 [Option ID = 40]
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The graph shows cumulative frequency percentage of research scholars and the
number of papers published by them. Which of the following statements is true?
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[Question ID = 11][Question Description = 111_1469_GP10__Q11]
1. Majority of the scholar published more than 4 papers

3iferepior oller BIG of 4 3 3iferd 9ller U B

[Option ID = 41]
2. 60% of the scholar published at least 2 papers

60% 9ller BIe)i of et A D 2 9llel U] BIU

[Option ID = 42]
3. 80% of the scholar published at least 6 papers

80% oier BT of a5t 3 et b oM U] BT

[Option ID = 43]
4. 30% of the scholars have not published any paper

30% 9ller DI of uap i ofler U o1&l ®rur

[Option ID = 44]

12) The random errors associated with the measurement of P and Q are 10% and 2%, respectively. What is the maximum
percentage random error in P/Q?

P e Q @ A14el i Ao sigliga maor: 10% au1 2% & P/Q 3 gicrersiigiaoad aeliRed s19liy fodasil 3?

[Question ID = 12][Question Description = 112_1469_GP10__Q12]
1. 120

[Option ID = 45]
2. 9.8

[Option ID = 46]
3. 8.0

[Option ID = 47]
4. 102

[Option ID = 48]

13) If a person travels xy faster than'normal, he reaches y minutes earlier than
normal. What is his nofmahtime of travel?

P15 qafdT YNGR AT yo, 01 TADR G GHA Y, FHIE Sl Ug gl o
G DL WERI T T T TR a1 900 il g2

[Question,ID'= 13][Question Description = 113_1469_GP10__Q13]
1. (22+%)y Minutes

&

(E+ ]_)y ﬁlﬁ[‘d

x
[Option ID = 49]

2. (Z+1)y minutes

(i+ 1)y fdrote

100
[Option ID = 50]
5 .
3. (Z+1)y minutes

(Z5+1)y B

[;OPZEQ[DQQHne Coaching of life science : visit: www.biologyscholar.com, or contact: +91-7021673266

4. (%Jr 1)y minutes



(%+ 1)y B

[Option ID = 52]
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Pre-Ph.D. exam score of 10 students are plotted against their M.Sc. marks. Which of
the following is true?
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[Question ID = 14][Question Description =y11441469_GP10__Q14]
1. Two students have scored better.in Pre-Ph.D. than their M.Sc. exam

ol fdenf?far of gd-Ph.D, agismd M.Sc. u3ist & sis d&aR 3id Ul &

[Option ID = 53]

. All those students who'scored 50 in Pre-D. scored more marks in their M.Sc. exam

q il feremrefh fSiogiorgd-Ph.D u3tem #f 50 3ic yra bl Ioalel M. Sc. u3ten ¥ siférd 3id g fpd &

[Option ID&54]

. Twosstudents scored the same marks in their Pre-Ph.D and M.Sc. exams

St fanffai of gd-Ph.D aemr M.Sc. w3lsnsii 3 el 3icb Ul &

[Option ID = 55]

The student who scored maximum in M.Sc. is the only student to get maximum in Pre-Ph.D. exam

qg fdermeff 5 M.Sc. u3tst 4 Aaifire sid 3R Biw 33D diyd-Ph.D. w3ten # aft afferd sim 3 8

[Option ID = 56]

15) What is the average value of y for the range of x shown in the following plot?
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[Question ID = 15][Question Description = 115_1469_GP10__Q15]
1. 0 [Option ID = 57]

2. 1 [Option ID = 58]

3. 1.5 [Option ID = 59]

4. 2 [Option ID = 60]

16) A fair die was thrown three times and the outcome was répeatedly six. If the die is thrown again what is the probability
of getting six?

uep forougt urAr dicl aR BT SRI dell 32 dR 8t 3R AfS URII Yol: Bepl SR dl 88 3irol &bt yiRRreasdr fapdeit 37

[Question ID = 16][Question Description = 116_1469_GP10,_Q16]
1. 1/6

[Option ID = 61]
2. 1/216

[Option ID = 62]
3. 1/1296

[Option ID = 63]
4.1

[Option ID = 64]

17) What is the*volume of soil in an open pit of size 2m X 2m X 10cm?

2mX%.2m X 10cm #A1g @ ua Hcl 3136 4 fdbdol IRIA6 ol 9131 37

[Question ID = 17][Question Description = 117_1469_GP10__Q17]
1. 40m3

[Option ID = 65]
2. 0.4m3

[Option ID = 66]
3. Om3

[Option ID = 67]
4. 4.0m3

[optRpidGB%ine Coaching of life science : visit: www.biologyscholar.com, or contact: +91-7021673266

18) If a plant with green leaves is kept in a dark room with only green light on, which one of the following would we
observe?
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[Question ID = 18][Question Description = 118_1469_GP10__Q18]
1. The plant appears brighter than the surroundings

3IRIURT B qctoll 3 Qerr 3iférap cdtepdr faaar 3

[Option ID = 69]
2. The plant appears darker than the surroundings

3IRIURA b qctoll ¥ ulen 3iferd &2 fGarfl Sar 3

[Option ID = 70]
3. We cannot distinguish the plant from the surroundings

A a werfazur 3 o N ol e S 2Adar
[Option ID = 71]
4. It will have above normal photosynthetic activity
dld) 3f e A 3Iferd Yeprol Joc3uvT YfepRn Bl
[Option ID = 72]

19) The distance from city P to city Q is 27 km. A and B start walking from P towards Q at speeds of 5 km/hr and 7 km/hr,
respectively. B reaches Q, returns immediately, and meets A at R. What is the distance betweenPyand R?(assume all three
cities to be in one straight line)

oI9R P d oloR Q @ =il bl gft 27 km 3 sI91R P A o1oR Q bl 311R A a2 B aydior: 5 km/hricen 7 km/hr bl <ret A @retoll
YR DA 8 B I0IR Q Ul B |16 dd clicd: A A PR R U2 ¥icdl & o191 P oloR R/ i bl g3l fepetofl 3? (ol
fop dicll o1e1R wab Aze 3ar 3 Rera 3)

[Question ID = 19][Question Description = 119_1469_GP10__Q19]
1. 12.5 km

[Option ID = 73]
2. 22.5km

[Option ID = 74]
3. 4.5 km

[Option ID = 75]
4. 13.5km

[Option ID = 76]

20) A floor of size 13 X 24 is to be paved using square tiles only. What is the smallest number of
tiles needed to do this?

o Bf @1 PR3 X 24 3 ORI HI asIidIR TI5cll A GPI SR 3 VAT Dol D 18 RYoldd crsell dl e sistl

[Question ID,="20][Question Description = 120_1469_GP10__Q20]
1. 6

[Optien ID = 77]
215

[Option ID = 78]
3.8

[Option ID = 79]
4.9

[Option ID = 80]

Topic:- 703SH1_PARTB_CSIR_FEB22_SET1

1) Following statements are made about uncompetitive inhibition of an enzyme:
A. UnqogipelitiyroithikitaniRipds torbesbitrae @nayisi: an well Bicib §Parnelstbstsate spmplstact: +91-7021673266
B. Addition of uncompetitive inhibitor lowers the Vmax of the reaction.

C. Apparent Km of the enzyme is lowered.



D. Apparent K of the enzyqe;refiaing BRSRAG$Eeholar.com, or contact: +91-7021673266

Which one of the following option represents the correct combination of the statments?

foratet werol ues UeIrsd @ gferqueideie Yraier o g 3 gote sR::

A. sgferqueaeres YraRiers Jaad USIIsH, AT 8t AT UelisdA-origaa Afdag) Sleil I derd 3
B. sgftrIueriaeies YraRiers T o1 R & Vinax @1 oRIoiR @2 3dt 3

C. vorzd o1 smrRil Ky foriprar al sidt @

D. dsisa @I Rl Ky srufafela woll &<l

foraratifcpa 3 21 Plol AT vb ferea el a1 Al ficre gerfar 3?7

[Question ID = 21][Question Description = 101_552_LSCB__QO01]

1. Band C
B aem C
[Option ID = 81] ‘ ’

2. Aand C
Aden C

L 4
[Option ID = 82]
3. Aand B

[Option ID = 83]
4. AandD

Aaen D
[Option ID = 84]

2) Following are the pKa's of the ionizable groups in lysine Q

pKa, = 2.16 (@ - carboxylic group)

pKa, = 9.06 (@ - amino group)

pKa, = 1054 (g - amino group) 0
Which one of the following options repre pl of lysine?

TR | e R 998 @1 p o e
PKa, = 2.16 (a -
pKa, = 9.06 (a -
pPKas = 10.54 (
Errsﬁqaiplﬁm%’*

2][Question Description = 102_552_LSCB__Q02]
jon ID = 85]

4. 9.8 [Option ID = 88]

3) The enzyme alkaline phosphatase was tested for its catalytic activity using the substrate
para-nitrophenylphosphate. The Kw obtained was 10 mM and Vmax was 100pmol/min.
Which one of the following options represents the initial velocity of the reaction at a

substrate concentration of 10 mM?

HE WA ahRES B TR Hid Tuls Tehalsd HIEbes &) 30d JoR®
GirarChite Geachingnt fesaence 1visit Wwuiw;biplogysehiphan comidAcop@ct: +91-7021673266
Gigdl 10 mM IR, F=1THa o O $F 91 U6 [dee Al & URfUS 7ifd &f g2iidr 87



[Question ID = 23][Question Description = 103_552_LSCB__Q03]

50 umol/min [Option ID = 89] ViSit: www.biologyscholar.com, or contact: +91-7021673266
100 pmol/min [Option ID = 90]

500 pmol/min [Option ID = 91]

20 pmol/min [Option ID = 92]

AN wN -

4) How many hydrogen bonds involving the backbone CO and NH can be observed in an a-helix consisting of 15 amino acid

residues?
CO @enr NH srrerz ot gad @2 gu 15 spflell spie siarmal A B v a-@sierndl 3 foaol sssisiel el 3 St Add 37

[Question ID = 24][Question Description = 104_552_LSCB__Q04]
10 [Option ID = 93]
11 [Option ID = 94]
12 [Option ID = 95]
13 [Option ID = 96]

A W N -

5) Progression across G1/S boundary followed by entry into S-phase is promoted by the activation of which one of the
following protein complexes?
G1/S ufefisn @ 3mel Yericl aquerdard S-3ra=ien 3 yael forslifed vt v gifed Jifdagl @ afipor 1 yafda diar 3?7

[Question ID = 25][Question Description = 105_552_LSCB__QO05]
Cdk4/Cyclin D [Option ID = 97]

Cdk2/Cyclin E [Option ID = 98]

Cdk4,6/Cyclin [Option ID = 99]

Cdk4,6/Cyclin D, E [Option ID = 100]

A w N =

6) In eukaryotic cells, covalently attached lipids help to anchor some water soluble proteins\to the plasma membrane. One
group of cytosolic proteins are anchored to the cytosolic face of membrane by a fattysacyl group (e.g. myristate or
palmitate). These groups are generally covalently attached to which amino acidsspresent,at'the N-terminus of the
polypeptide chain?

it DDl 3 eI HerH RIS |8 st 3 gerorofiar Q6 ol yerspn Bieedt I siosal 3 ARIAT Bl & PIHIIDIRICRI
Qidlell I U e T a1l ultel A3gE (SIRY b AEdRee sreran urcpiite) @& oRI Ricell@ wIRpIfIcRl gug 3 SipsI 3Bl & A8 WS
HTHATGRIRIT Urcfiiyerss gjzact @ N-3icae uz 3uf¥era e ves sweficll smper 3 FAsAAISIDT FHcelol JXdr 37

[Question ID = 26][Question Description = 106_552_LSCB__Q06]
1. Glycine
setrsiol

[Option ID = 101]
2. Tyrosine

ergRilol

[Option ID = 102]
3. Serine

Aot

[Option ID = 103]
4. Lysine

cIrsRior
[Option ID = 104]

7) The movement of proteins bigger than 50 kDa across the nuclear envelope requires:
DolgbI 31T B IR=UR 50kDa A a3 Qidicil @ ureeier & fere smagRrmar skl 3:

[Question ID)=27][Question Description = 107_552_LSCB__Q07]
1. Sec 61\[Option ID = 105]

2. Tem, 20 [Option ID = 106]

3. ImportinB, [Option ID = 107]

4. Tim 44 [Option ID = 108]

8) Iron-sulphur clusters [Fe-S] are the key prosthetic groups that carry electrons in all of the below EXCEPT:
cile-Aciw2 A [Fe-S] ygra qrifeifraa ast 3 it fop fongeifeea it 3 scracioll @1 asol @ 3, Riar f:

[Question ID = 28][Question Description = 108_552_LSCB__Q08]
1. NADH - CoQ reductase
NADH - CoQ Ysagst

[Option ID = 109]
2. Succinate - CoQ reductase
AP rCeimeE Coaching of life science : visit: www.biologyscholar.com, or contact: +91-7021673266

[Option ID = 110]
3. Cytochrome C oxidase



4.

Asdiad C sifaisst

[Option ID = 111]
CoQH2 -Cytochrome C reductase

visit: www.biologyscholar.com, or contact: +91-7021673266

COQH; - e C Isagar
[Option ID = 112]

9) In bacteria many of the tRNA genes do not contain the CCA sequence found at the 3' end of tRNA. In this context which
one of the following statements represents the correct explanation?

Sfiaropsii 3 @3 tRNA sfieti 3f tRNA @ 3' R13 ur urd Sirel arct CCA 31ojazat T 3131 3Ic1 3 32 Hcs 3 forepotifdna 3 A dlel A1 vd D AD
forsuvT gIga @ 8?7

[Question ID = 29][Question Description = 109_552_LSCB__Q09]

1.

In these tRNAs amino acylation occurs at the 3’ end of the tRNA irrespective of the presence of the - CCA sequence.
ot 21sft tRNAs 3 CCA argjapat b 3ufderfer 3 forrter tRNA @ 3’ BR w woflell warrseRiet alar 8
[Option ID = 113]

. CCA sequence is added to these tRNA transcripts in a DNA template independent manner.

3ol tRNA 3rojerdl 3 v DNA watf Jparefior gumeft 3t CCA siojat &1 - JSId 3T 3
[Option ID = 114]

. These tRNAs exploit the process of trans- splicing to include a CCA sequence at their 3’ end.

I tRNAS uar-3sitrot gfparr ot 3uier 3ol 3’ R uz CCA 3iojagil bl AT Bl 3 BT 3
[Option ID = 115]

. The absence of CCA sequence occurred only in the last common ancestor (LCA) during the course of evolution and‘the current day tRNA genes

always possess a sequence to encode the CCA end of the tRNA.

B Rt 6t yfeprn @ cirer CCA slojast o siopufderfer dde sifepr Idforyg ydst (LCA) 3t g1t der aderrer et tRNA Sfisit 3f tRNA @ CCA BR @1 dcel w0l @ fere
b 3fofjad b 3uferfer AGa et

[Option ID = 116]

10) Some cells possess peptides which contain D- form of amino acids. How'do they arise?

@O PIIDIT UYCIss] ®I &RUT Bl 3 o3l 3rilell 3RIEll @1 D- Jareu Bl 3 gordl Squft A sl 37

[Question ID = 30][Question Description = 110_552_LSCB__Q10]
1.

These peptides are produced by ribosomes by incorporating D- amino acids at.specific positions.
3ol Uucrssi bl fowtiur sl grI fdy sl w2 D-swfiel spicl & Jenfayce 3 aldn2
[Option ID = 117]

. Ribosome makes peptides with L-amino acids only. However,isome©f the amino acids in the peptides are replaced by D- amino acids by a pathway

that involves excision of the L- amino acids.

@i dact L-spfloll sErel arel uersst @) dorrad 3 e, v, ufuel grt BSowt L-3efiell spicl @ 3a@cer Afdafera alar 2, Mucrsst af @w sefiell swict D-sefiell seicll grr
yfeRenfid 8t S &

[Option ID = 118]

. The peptides with the D-amino acids are produced in a ribosome-independent manner.

D-spwiioil swictl Yaoed Uuersst @ foriiured Asalild Aarelior yuiret 3 alar &
[Option ID = 119]

. Peptides with D-amino dcids existyonly in archeae where they are made by the presence of racemases.

D-amfiell swic Jane WIS, ddet 3Ier Sflarvail 3t uRY i 3 sial 3otept Bifor Wil & sufderfer grt At 3
[Option ID = 120]

11) Allof the following statements about bacterial transcription termination are true EXCEPT

Sitaifdad srefciRdol FId6l @ cst I sl perel Ad® 3, Riara e

[Question ID = 31][Question Description = 111_552_LSCB__Q11]
1.

some terminator sequences require Rho protein for termination.
@B AAUD oDl DI AAel D fere Rho gicter bl smagpidar aidt 3
[Option ID = 121]

. inverted repeat and ‘T’ rich non- template strand define intrinsic terminators.

yferellfdr YoRIgiet aer ‘T’ iuciol 313~ Wl I515] 19 JIUD] DI URHIRA DA &
[Option ID = 122]

. Rho-dependent terminators may possess inverted repeat elements.

Rho - anfdf 2w 3 gferelifda yormfer aqd 8t Amd &
[Option ID = 123

. Nus Egﬁgégly]mg;mammgi,gtrlif@,.sgmmyisit: www.biologyscholar.com, or contact: +91-7021673266

FCTICT BloJCIXTol Aol @ ferg Nus A simasRids 3
[Option ID = 124]



12) Which one of the follov%ﬂtbwwmsngg&X§ghBW&9rt]?lequi?igﬂmqf' I')LIQA? ?Z%&ﬁlﬁ%@@eu as the continued
advance of the replication fork?
forerfeiRaa & A ®lel A1 v Yictar DNA yferapferior 2irer & arer yferapferior fdoma @ Jada sepeifd, <ol @ e srasRie aiar 37

[Question ID = 32][Question Description = 112_552_LSCB__Q12]
1. ORC

[Option ID = 125]
2. Geminin

Sifdrforer

[Option ID = 126]
3. Cdc45

[Option ID = 127]
4. Cdcé

[Option ID = 128]

13) Which one of the following combinations represents the major protein or protein complex involved in_chromatin
condensation in yeast and human, respectively?

foraperferRaa 3 A ®lel AT v fictror aarorn: MRYc aen Arora A RIIfesr Ieolol 3 Y Yickol srerar Giclol Afdargl ot gorfd 37

[Question ID = 33][Question Description = 113_552_LSCB__Q13]
1. HP1 and SIR Complex
HP1 e SIR afdsrgg

[Option ID = 129]
2. SIR complex and HP1

SIR Jfdargy aer HP1

[Option ID = 130]
3. HP1 and Su(var)

HP1 qer Su(var)

[Option ID = 131]
4. SIR complex and Su(var)

SIR Afdaig[ cem Su(var)
[Option ID = 132]

14) Which of the following is the causative agentuof filariasis?
foraroiferiRac 3 3 Dol AT TP BISTATRIRRI Bl PRUERID Hed &7
[Question ID = 34][Question Description'= 114_552_LSCB__Q14]

1. Listeria monocytogenes
feraef¥en AloirseIotoRt

[Option ID = 133]
2. Cryptococcus neoformans

fegueleplazasat forewialoRt

[Option ID = 134]
3. Francisella tularensis

PRl SRR

[Option 1D, = 135]
4. Brugiyamalayi

IR HcTRIl
[Option ID = 136]

15) The cytoplasmic domain of the receptor of which of the following proteins does NOT function as tyrosine kinase?
forpatifcpa b1 Qiélar @ Yl DT DHIDPIGHR ygi cISRARIel PIsols @ SiI PRI oldl Pl 8?7
[Question ID = 35][Question Description = 115_552_LSCB__Q15]

1. Epidermal growth factor
siferafife gfy or®

[Option ID = 137]
2. Platelet derived growth factor

c@iﬂgor 5%{;Igl%aeaﬁ(l;ﬂgaching of life science : visit: www.biologyscholar.com, or contact: +91-7021673266

[Option ID = 138]
3. Insulin



4.

soferor

[Option ID = 139]
Asialoglycoprotein

RRICseIsDIgIciol
[Option ID = 140]

visit: www.biologyscholar.com, or contact: +91-7021673266

16) Tumors are generally classified by

ardel (Tumors) @l AMHIGRIAR $oid 3MMER UR doifapd fova Sirar 3

[Question ID = 36][Question Description = 116_552_LSCB__Q16]

1.

the virus which caused them
fAwUIe St Solbl BR® &

[Option ID = 141]
. the person who discovered them

qafep fSfetgiol sofadl s &

[Option ID = 142]
. their metastatic ability

3olhl eI gEar

[Option ID = 143]
. the tissue or cell of origin

3D 3rerdr DT SR sorcbl 3qufer 2t 3
[Option ID = 144]

17) A breakthrough in cancer therapy is expected where T- cells are taken from a patient’are modified in the laboratory to

attack cancer cells before re-infusion in the patient. These T cells are called

DAz fiftpar 3 v Asaaygel araxdl srafda 2 siei v #dist A R srRim T- BHIBIU 36131 Yol: -JJ I Aol A UEd! g BHIIDBISIN Bl STaysIvT
@0l D fere gRieT9Nen 3 uf¥afcfa oo sirar & so1 T DIl Wl SIrelT SIIdT 3,

[Question ID = 37][Question Description = 117_552_LSCB__Q17]

1.

cancer associated receptor T cells
DR Aag fs T DHpe
[Option ID = 145]

. chimeric antigen-receptor T cells
PrsAfde yferstor afs T Mfdrpe

[Option ID = 146]
. chimericBand T cell

DAy B aden T wifdrst

[Option ID = 147]
. cancer antigens recognition T cells

DR Yferslol UIeIPR® T PIHIDE

[Option ID = 148]

18) Which one of the,following statements with respect to development in amphibians is correct?

JIRIRI B fAPRI & e 3 forelifdea ®lel A1 v Beret Ack® 37

1.

[Question ID,="38][Question Description = 118_552_LSCB__Q18]

Gastrulation begins with the invagination of bottle cells, followed by coordinated involution of the mesodermal precursors and the epiboly of the
prospective ectoderm

dfcct aiforpisii (bottle cells) @ sicdactor @ e wgdel (Gastrulation) grRer 3idr 8, ddqueid IERISORIR Ydddiii o ol sidacter der gaRnford araras o1 sieRIRIE

[Option ID = 149]
. The organizer induces the Nieuwkoop centre

36D BIHMU Dofg, DI YR Dkl &

[Option ID = 150]
. The organizer is formed by the accumulation of B-catenin

B-deforer B ofeut A Aelod P foraiur lar 8
[Option ID = 151]

4. In the absence of BMP inhibitors ectodermal cells form neural tube

BMP qrerdterest bt argqaf3efér 3t atereraf RIS difdfeT orclt fififer wactt 2
[OptEQTDQ%E?e Coaching of life science : visit: www.biologyscholar.com, or contact: +91-7021673266

19) During normal development of sea urchin, B-catenin accumulates predominantly in the micromeres, which are fated to



become endoderm and mesoderm. If GSK- 3 is blocked in the developing embré :
visit: www.biologyscholar.com, or contact: +91-7021673266
FFQ ffol D AR RreRT B Jhret, - mwmﬁ@ﬁaaﬁt Sil f5 siclSIoRIAR de ALRISoRAR dolol & fore RBifdye da

3 afe fapraofier apur i GSK- 3 @1 srafera Rean sie at

[Question ID = 39][Question Description = 119_552_LSCB__Q19]
1. B-catenin accumulation in the nuclei of large micromeres will be inhibited leading to formation of ectodermal ball.

@W@@Wﬁﬁ-ﬁ%ﬁ@%ﬂs@ﬁﬁ@m&ﬁm%ﬂmm
[Option ID = 153]
2. B-catenin will accumulate in the nuclei of all blastula cells leading to an ectodermal ball.
Hﬁaﬁﬁaﬁﬁmaﬁﬁ@s@aﬁiﬁ-a%ﬁﬂaﬂﬁaﬂaﬁmﬁmﬁmmﬂmm ’
[Option ID = 154]
3. B-catenin will accumulate in the nuclei of all blastula cells leading to animal cells getting specified as endoderm and mesoderm.

mﬁaﬁmﬁﬂﬁ@lﬂmﬁﬁﬁ%ﬁ@@ﬁﬁ-aﬁ%@ﬁaﬂjﬂﬂa@m%@ﬁﬁsﬁgﬂﬁ@mﬂaﬁmﬁ@maﬁamamwﬁmam

[Option ID = 155]
4. B-catenin which accumulate in the nuclei of large micromeres will be inhibited leading to animal cells getting specified as endodérm‘andsmesoderm.

B-fﬁ%ﬁﬂeﬁﬁsq&ﬁa{pﬁﬁfﬁﬁa@fﬁﬁ@mﬁmaﬁ% 3oTepl S[ARIerel BT ORRI & Sig DIfSIpIall P fAfdrftcdsur sidsoRIAR Tl IERISORIAR SIIT 31 SIS

[Option ID = 156]

20) In which of the following stages of Arabidopsis embryogenesis do the visible distinctions'between the adaxial and
abaxial tissues of the cotyledons become initially apparent?

Wyt yuiga @ forfetifed s arur & SiRiet disTudgl & sreRIST deIr 3rurgl Hedl & dia &I gager faeico! yepa: Juyce A siedl 3?7
[Question ID = 40][Question Description = 120_552_LSCB__Q20]
1. Globular stage
SICIIPR AL
[Option ID = 157]
2. Zygotic stage
FPIoTT [aAAT

[Option ID = 158]
3. Torpedo stage

CRUIST sraren

[Option ID = 159]
4. Mature stage

ufduad 3raen
[Option ID = 160]

21) In a transplantation experiment, the area of presumptive ectoderm from an early frog gastrula was transplanted to a
region of the newt gastrulasdestined to become parts of the mouth. The resulting salamander larvae had frog like mouth
parts (frog tadpole suckers),instead of balancers as observed during development of wild type newt embryo. This is an

example of

up YferIuvr GRIPT 3 He® B o YRRIED SR @ Ydbfeud di@rsoRIaR Ygid Pl oRIe g @ b ygiq d Yferifta e srn st e @ &
el ol forfdfa w2ond e forfdye 3 ufbvmedl JAcmdieE: ardl 3 Aqgferg Si=n 5 a1 Yreu oRIc 4uT & PRI & Skiel 31 ST 8, 33D ATl
02 Jich D F D 3T (Hed Ul gudD) A AS TP IGBT 3
[QuestionD'= 41][Question Description = 121_552_LSCB__Q21]
1. Determination

forerizur

[Option ID = 161]
2. Genetic specificity of interaction

URAURD fipRr b Srojdford fAdAre

[Option ID = 162]
3. Regional specificity of interaction

¥ fpr bl giffr fadan:

[Option ID = 163]
4. Autonomous specification

JAARIAA [AfdiReaur
[optle@mOmnéine Coaching of life science : visit: www.biologyscholar.com, or contact: +91-7021673266

22) Which of the following ‘R’ gene products do not contain NBS-LRR domain?



‘R’ Sfter @ BrEIfed wist A qurc 3 NBS-LRR ygiq ol dtar 3?
visit: www.blccﬁogyscholar.com, or contact: +91-7021673266
[Question ID = 42][Question Description = 122_552_LSCB__Q22]

1. RPS2 protein of Arabidopsis
dafesifeart a1 RPS2 gidtet

[Option ID = 165]
2. Xa1 protein of rice

errol 1 Xa1 gicter

[Option ID = 166]
3. N protein of tobacco

asaray, @1 N gicter

[Option ID = 167]
4. Mlo protein of barley

St 1 Mlo gidter
[Option ID = 168]

23) Photochemically generated ATP is consumed in which one of the following phases of Calvin-Benson cycle?
Dfcdol doRTol aay @ foRfelifepd fopa1 v Ul # YwI9RRIRIfID 3quiféa ATP w1 Suriler 8l sirar 37
[Question ID = 43][Question Description = 123_552_LSCB__Q23]

1. Only carboxylation

Dacl PIafaIciid0T

[Option ID = 169]
2. Only regeneration

@Dt Yolstolol

[Option ID = 170]
3. Carboxylation and reduction

DIAIDACADT TUT JURIGT

[Option ID = 171]
4. Reduction and regeneration

SIUTRIGT eI Yofsiolol
[Option ID = 172]

24) Dirigent proteins predominantly play an important role in biosynthesis of:

Rf¥Siere Yidiol xR so1d SiaRiociuvl d Haqayul yfdrel sicr w2 3

[Question ID = 44][Question Description,= 124_-552_LSCB__Q24]
1. lignans

feroTotoRT

[Option ID = 173]
2. alkaloids

3clacifars

[Option ID = 174]
3. terpenoids

erdlomes

[Option,ID =1175]
4. amino acids,

watloll SmIcT
[Option ID = 176]

25) Which one of the following is used in organification of tyrosine residues in thyroglobulin protein, during thyroid hormone
biosynthesis?
RRITS Fllel & SITAICHUI B SRIol, oRIETifid ®lol A Ud BT IURPT <IARIGT IaRIAl &1 P elgIferer Qidtel 3 smolfoifdraur 3 drar 3?7

[Question ID = 45][Question Description = 125_552_LSCB__Q25]
1. lodine

Eivisics
[Option ID = 177]

2. Redyeest¥iine Coaching of life science : visit: www.biologyscholar.com, or contact: +91-7021673266
Bueivgiivisicy

[Option ID = 178]



3. Oxidized iodine
ity smRistor

[Option ID = 179]
4. Hydrogen iodide

BISSlolol JRISES
[Option ID = 180]

visit: www.biologyscholar.com, or contact: +91-7021673266

26) The dark current in retina is due to
et 3 318 BIsIc FoId DBRUI BldT &

[Question ID = 46][Ques_tion Description = 126_552_LSCB__Q26]
Closing of Na* channels in the outer segment of photoreceptors.

THEINRE & A WS H Not TUTE! B §E B

[Option ID = 181]
Opening of K* channels in the inner segment of photoreceptors

TSRl & =R Ts H x* YOIl &1 gd Sl

1.

[Option ID = 183]

Closing of K* channels in the outer segment of photoreceptors V
TSR F R TS H g+ YOGl &1 55 g

[Option ID = 184]

27) Which one of the following is not present in the filtration sli

forarotifona 3 A wiol AT v foRTRIce R AieRrEs (filtration slit di suf¥era ol arar 37
[Question ID = 47][Question Description = 127_552_LS 7]
1. NEPH1
[Option ID = 185]
2. Paxillin
) O
[Option ID = 186]
3. Nephrin
) O
[Option ID = 187] \
4. NEPH2
[Option ID = 188]
28) DNA wasgi om a strain of bacterium with genotype a* b* ¢*d* et and
in bacterial strain @~ b ¢~ d~ e~ . The transformants were tested for the

e donated genes. The cotransformed genes were found as follows:
i ctande*; d* and ¢ bt andd*;

hat'is the order of genes on the bacterial chromosome?

a* b* ¢t d* e* SIFUEU AT TR B TP a0 ¥ DNA JUSpd (U T TYT 0~ b~ d™ e
T & U Sa1] § TR [l 17| SUidl @1 Hed BT T8 Sl & Jutfa & o
udiféra favan man | wEuaiid Sl &1 e uefiar @ St o T

at dUlp*; ot dUle*; dF dlcH; p+ AU GY

SHETY] A[UREE W SiHT &1 569 &1 87

[Option ID = 182] .
Opening of Na* channels in the outer segment of photoreceptors

3.
UBIRANRA & dd G & Not UUIE! BT G ST ?\

[Quesfigk PRIiAIaeAtRINBLEHissrienss syisitseswwhiplogyscholar.com, or contact: +91-7021673266

“ abcde

[Option ID = 189]



2.

3.

4.

ached

[Option ID = 190]
abced

[Option ID = 191]
abdce

[Option ID = 192]

visit: www.biologyscholar.com, or contact: +91-7021673266

29) A fly with apricot coloured eye was crossed with a sepia eyed fly of opposite sex. In F1 all flies were wild type. The
genes responsible for the two phenotypes were

T UYioIe (Gdrell) 39T @ 31 drcl eIl I Aml faufsd st @ iR sridl arcr wererazd! A orn srn F1 3 13ft wororagzda
ToRIYRsU bl oft el caIgwyReul @ fere Iqarcril sitel &

[Question ID = 49][Question Description = 129_552_LSCB__Q29]

1.

allelic

opafdaperdier

[Option ID = 193]

non-allelic

313 Poprfdaerdin

[Option ID = 194]

. pseudo-allelic
31~ Yogifdaerdin
[Option ID = 195]

4. paralogous genes

Taretor Sftol
[Option ID = 196]

30) Human polydactyly traits having extra fingers or toes are caused by a dominant allele. In a screening it was found that
out of 42 individuals having an allele for polydactyly, only 38 of them were polydactylus. Which of the following is the
correct interpretation of the observation?

Frord agaidyferar cigior frardl sifeifyaya sisyferam i uia o1 sivgeT Bl 3, v gaurdl yepfaaetl @ Rl Sidr 8 W 3roIdigivr 3 A8 urRI SR foo

42 qftpl 3 fRrord agsidiferar @ fere v Jopafdmedl 3, Iowd 3 Dact, 38 it ag3ieyferar gorid 3 foretifpa 3 3 Blot AT IuRIaA w=Idgr
&l Ak fdaen 37

[Question ID = 50][Question Description = 130_552_LSCB. Q30]

1.

The penetrance of polydactyly is estimated to be 90%
qgaplferdr i Silel aRnfer bt srvrer 90% url srRft
[Option ID = 197]

2. The expressivity of polydactyly is 90%

qg3io)ferar &t sifdraradar 90% &
[Option ID = 198]

3. This is an example of variable,expressivity

18 ufsaciofizr sifiraRIcnaar oT Bd 3616201
[Option ID = 199]

4. The polydactyly trait isishowing complete penetrance

TB3PRIAL cISonyYUl Siiol TR Gorf 381 &
[Option 1Du= 200]

341) The basic difference between direct repair and base excision repair is

YeIel SIPRIEIR dell 8IR I8cal SifeRIE? @ dla oI Jetvd 3idR 3

1.

[Question ID = 51][Question Description = 131_552_LSCB__Q31]
Direct repair restores original structure of altered nucleotide without replacement, while in base excision repair the section of DNA containing the
distortion is removed, the correct base is added and resealed.

YIeT SRR YfeRiemdel @ ol uf¥afeid sRgfderilcrss @ d1cl A6l P! dalel DAl 3, S &R IqBcol SIfeRIeR I frdya DNA sior @l forpret &R St 8, At 8IR Bl
GIIST Sl & Al Yol €S0l fopall i &

[Option ID = 201]

2. In direct repair, homologous recombination repairs the broken region while base excision repair restores original structure of altered nucleotide by

modification.

TSRO RS C B G S SETR e U8 RN BiBIB gy EEHBIET EsHY, Sres et g 1= 0 21673266

[Option ID = 202]

3. Direct repair restores original structure by non-homologous end joining without using homologous template while in base excision repair the section

of DNA containing the distortion is repaired by using homologous recombination.



UeRIST SRR TSI Wl O IURPT P oIl SRS RRI- JIITIGIT B ABICT DI 3 SIdich 3 faaa DNA sior ot SfivifgR sl gorifsiol
@ 3eiler 31 A 2 visit: www. bloflggyschgiﬁar com, or contact: +91 -7021673266

[Option ID = 203]
4. In direct repair, an exonuclease, a DNA polymerase and a ligase are used, while in base excision repair a translesion polymerase that bypasses the
bulky lesions is used by the cell.

RISt SICRIER 9, v vaileRgfarerest, B DNA urelardst aem o elrsdlst ol SwRIeT 8IAI &, SIfth 1R IABGol SRR 3 DD SRI 8D WRl-8ifeT urellondst Sil b gaa siferRIl
&I JUSH BIAT 3, IADI JURIGI BRIl ST &

[Option ID = 204]

32) Eukaryotes are classified into 5-6 super groups based on phylogenomic studies. Which one of the following statements
about eurkaryotic supergroups is FALSE?

siferisiioli= (phylogenomic) sreRRIer @ 3menR uz Jdivet ot 5 - 6 Iqasr asil (supergroups) 3 aeffaa fpen sk & JdfFaret 3w asit
@ Gl I foREtifdba Pl AT Ud DA el 3?7
[Question ID = 52][Question Description = 132_552_LSCB__Q32]
1. Fungi and animals are more closely related to each other than either group is to plants.
urcul @ fipit gof bl qetoll 3 A A SIgE b G A D aforsdr A Adfed &

[Option ID = 205]
2. Amoebozoa and opisthokonts are unikonts.

Sif¥raShan e sNfRfEldole Joflvlogt 3

[Option ID = 206]
3. Land plants and green algae belong to Archaeplastida.

Jferet urey den 3R didre snfesRmyeni¥cs 3 Adfera 2

[Option ID = 207]
4. Alveolates and amoeba belong to same super group.

GfeaRilcic] dell alsel Ub &l Sl asf A Aferd &
[Option ID = 208]

33) What is the pattern of cleavage observed in mammals?
Jorent¥il 3 farGerer w1 Wlol AT @B BT 37
[Question ID = 53][Question Description = 133_552_LSCB__Q33]
1. Radial

fSerer

[Option ID = 209]
2. Spiral
wsfera

[Option ID = 210]
3. Rotational
amR

[Option ID = 211]
4. Bilateral

fgugtter
[Option ID = 212]

34) Which'efithe following combinations would best characterize the dominant phase of the life cycle of a pteridophyte?
foraratifipa olet. 3T Ub el U cREIBIseT @ Siidel aaqy & Yerrdl srazien ol Jdidas adid A fadfta wzar 3?7

[Question ID = 54][Question Description = 134_552_LSCB__Q34]
1. Diploid gametophyte
f&afor opraRifse
[Option ID = 213]
2. Haploid gametophyte
SO YEIBIGT
[Option ID = 214]
3. Diploid sporophyte
feapfora domy-sige
[Option ID = 215]
. HaplF_Jd sp ?ﬂ
Online Coaching of life science : visit: www.biologyscholar.com, or contact: +91-7021673266
siyfdrer diomyy 3fge
[Option ID = 216]



35) Which one of the follov\v)ilgtgww_ BTSfS@S/g'CWSI5?%;8?“?%?&5&5%{%@?-%2“'6%}86‘1 its concentration in

troposphere?
foretifana 3t 2 Plot A 31 b} Aigar giewEisa Bl qetoll 3 JFIUNTIHS I A BIedl 3?7

[Question ID = 55][Question Description = 135_552_LSCB__Q35]

1. Nitrogen

GISgIstol

[Option ID = 217]
2. Oxygen

sifasRitstor

[Option ID = 218]
3. Ozone

3iTsilol

[Option ID = 219]
4. Carbon dioxide

Dol SI§ 3RS
[Option ID = 220]

36) The graph below shows the change in the size of four populations (A-D) over time.

—_—

Population size

Time (t) —

Which among the four populations (A, B, C, and D) wouldgwevelthe l@west intrinsic rate of

population growth (r)?

fifpa 3 T9T & TUe IR SRl & MBI uiiaa ®f guid gl

Population size —

Time (t) —=&

IR SHaErHieg (A8, C TUT D) SHYEI gfg & 999 &Y HaYd o () fogH gril?

[Question ID*=,56][Question Description = 136_552_LSCB__Q36]
1. A [Option ID'= 221]

2. B [Option D% 222]

3. C[Option ID = 223]

40D [Option'ID = 224]

37) Consider the following ecosystems.

A. Tropical rain forests

B. Open ocean

C. Algal beds and Coral reefs

D. Marshes and Swamps

Which one of the following options represents these ecosystems in an increasing order of their contribution to annual world
net primary production?

o s SEing Seaghing;of life science : visit: www.biologyscholar.com, or contact: +91-7021673266
A. suurefedelt auf a@of



B. gemr a1gg . .
visit: www.biologyscholar.com, or contact: +91-7021673266
C. oldret Jaxd el daar Hou-aglol

D. @gs aan gegel
foretifcpa @iol-AT1 v fieru so1 uilRR-eferd dqi ol fdea @ 9 aiftfe Yrafdre Iqurca i IoId APICIl DI d6d g8 BA A corlar 37

[Question ID = 57][Question Description = 137_552_LSCB__Q37]
1. B,C,Dand A

B, C, Daer A

[Option ID = 225]
2. C,D,Band A

C, D, BaarA

[Option ID = 226]
3. D,C,AandB

D, C, Aaen B

[Option ID = 227]
4, C,D,Aand B

C,D, AaenB

[Option ID = 228]

38) Historical frequencies of fires in an area can be determined by
Ueh &I 3 311 cPTol bl acoIail bl aRarRdrsil &I BferiRimar @l sod g1 foreif¥a fopan s Awar &

[Question ID = 58][Question Description = 138_552_LSCB__Q38]
1. radioactive dating of the tree remains.

US @ sragl o1 Seientt wrer-forertzor

[Option ID = 229]
2. examining the fire scars in growth rings of living trees.

3IET TRTol B €16 ST I ol DIdol T Aol DT FAIU6T

[Option ID = 230]
3. measuring carbon content on the soil surface after fire.

Shifee Ot @ qgiig acril 3t simer & foremell a1 uStgr

[Option ID = 231]
4. examining records of evacuation history of the nearby villages.

ololcip @ oridl ol Aieft 2ol D sfesrRI B 3fdreldl b Siia BdIal

[Option ID = 232]

39) Given below are statements on, ‘living fossils’. Select the correct statements.
il Sfifea sharepil R | ol BT E A8 Decil BT Jolld B3

[Question ID = 59][Question Description = 139_552_LSCB__Q39]
1. Living fossils are impressions of, extant organisms in old rocks.

Siifde Sfiaropt gRrohudeRl 3 #ilsigl Siidl oI sidel &

[Option ID= 233])
2. Living fossils shew high morphological divergence from fossil records.

Siifee Siaropt silarot ifrcldl A SIRIED FuIgid factol gorld &

[OptionyID = 234]
3. "Living fossils are always an evolutionary link between two classes of organisms.

Shife fiarept A3a At YR D QREN @ dra B oo Ror 6 od a0 3

[Option ID = 235]
4. Living fossils are organisms that have remained unchanged for millions of years.

Siifdrer Sftarept a@ yiftrn & St fp el aut 3 srufyafela s srr &
[Option ID = 236]

40) Mimicry where deceptiveness of the mimic’s signal is high and fitness consequences signaled to the receiver by the
mimic is also high (and negative) is

;“g@?%‘?i@?u FE G St g B ST E S TS BTsTB g BLhB AP 2 S BrEbREsEr: PoTe/ 61 873588 =

[Question ID = 60][Question Description = 140_552_LSCB__Q40]
1. Batesian mimicry



TERRIOT a2 visit: www.biologyscholar.com, or contact: +91-7021673266

[Option ID = 237]
2. Millerian mimicry

FHATRIGT 31001

[Option ID = 238]
3. Fisherian mimicry

ftQIfSIoT 31ojmuT

[Option ID = 239]
4. Millerian mimicry

fdrciR¥Ior 3rofmuT
[Option ID = 240]

41) Consider the following four geological periods.
A. Quaternary

B. Cretaceous
C. Jurassic
D. Cambrian

Which one of the following options represents the correct arrangement of these geological periods from earliest to recent:

fopreiifepa ar spnif ol u? ik 3

A. aqel #sImaqu

B. fpeRrr1

C. R

D. @figror

foretifcpa @il AT v frbeu sot 8wl PIcil @ grelier 2 ordiel @ Acia @t 3 corldr 3:
[Question ID = 61][Question Description = 141_552_LSCB__Q41]

A-B-D-C [Option ID = 241]
D-C-B-A [Option ID = 242]
C-B-D-A [Option ID = 243]
B-A-C-D [Option ID = 244]

A W N -

42) Select the correct statement related to phylogeny of primates.

Yrsdcl & Shfergead A Adfera Jéte weret oI golra o2

[Question ID = 62][Question Description'= 142_552_LSCB__Q42]
1. Lemurs are more closely related to,lorises than to gibbons.

192 fOrqaol bl qetoll I clifda1 3 aifdes BipcAn 3 Adidd &

[Option ID = 245]
2. Orangutans are closer t@ lorises than to gibbons.

SIRBICTol BIaeel I Feloll aiciliRA A folde &

[Option ID = 246]
3. Tarsiers aréysame as old world monkeys.

CIRRR T YIeT 463 el 3

[Option D = 247]
4., Humanstare closer to new world monkeys than to orangutans.

ORI BIRIBIcTel bl qetoll 91 oId gl A forpe &
[Option ID = 248]

43) Which one of the following combinations of terms is matched INCORRECTLY?
919g¢I o1 foraifdpa 3 2 DBlel AT U A 3Teid oI A Adfera 3?7

[Question ID = 63][Question Description = 143_552_LSCB__Q43]
1. Nanopore : DNA sequencing

sifeRggH fesg (Nanopore) : DNA sigasur

2. L?,fs qu}zg{ﬁ@ngogmgsgfggfeesmence visit: www.biologyscholar.com, or contact: +91-7021673266

WUV : Gictel bl yRidd ol
[Option ID = 250]



3. Homologous recombination : chloroplast transformation
s . . +01.
: visit: www.biologyscholar.com, or contact: +91-7021673266

[Option ID = 251]
4. SSRs : Co-dominant markers

SSRs : JB-yrrd! Riosd
[Option ID = 252]

44) Which one of the following statements is correct?
forapatifepa 3 21 PBlol AT v BT AP 37

[Question ID = 64][Question Description = 144_552_LSCB__Q44]
1. If a transgenic plant heterozygous for an insert segregates into 1:1 ratio for the transgenic phenotype on back- crossing then it contains two
unlinked copies of the insert.

AfS v urstloft dlen St fib v Afdordor & fore fAwsrRpeEsh 3, Yedu yiaur ugrd ursiidl cigmr yreu 1:1 @ 3iourd 3 gerd 8l Siid 3, dl sold Afserder b Gl sR@emlor
yferpferi &
[Option ID = 253]

2. ANOVA allows a plant breeder to test whether measurements from three or more treatments show statistically significant differences.

ANOVA v uiGu yslolds Pl A8 ULSI0T B2l bl IUCIqerdl Yglol Dl 3 b ciiol a1 3iféid yolieror bl uf¥ami sifdgriyul Ao RGN gorldr &

[Option ID = 254]
3. Comparative genomics allows scientists to identify regions of collinearity but not synteny between different species.

eTolle9iD Asifordb dstiford! ol Sl frolol YslieRl @ i ARRAD YEIgl Pl Usdoclol Bl SUCTEEI Yolol Dl 8 wq Rioicoll bl orél

[Option ID = 255]
4. For genetic mapping of a quantitative trait in plants, an RIL mapping population comprising of individuals that are heterozygous at most loci is
preferred.

urcul 3 A fafdredr @ 3iopdfsid yferfirqur @ fére v RIL simeiferdun sirenc! ol vapdd siftidz faRierel @ o feRpEst 8ld 8, 3ofg adkidr Yglel fon Sirar &

[Option ID = 256]

45) Which one of the following regions of the target gene is NOT used for making an RNAi construct to knock down its
expression?

cfdid sfict @1 foreetifdpa 31 A Dlel A TP YGiq] DI IURIIPI 33D AfIRIfth Dlsebd, B0l @ fere RNAI saon o foiior & fere ol fdpa sirar?

[Question ID = 65][Question Description = 145_552_LSCB__Q45]
1. 5’ UTR of the mature transcript

ufduag seferd @t 5° UTR

[Option ID = 257]
2. 3’ UTR of the mature transcript

uf¥uag srejerda @t 3° UTR

[Option ID = 258]
3. Exonic region

uaRifel ggiq
[Option ID = 259]
4. Intronic region

Sofglot ygieq
[Option ID = 260}

46) Which onewof the following options represents a combination of terms that are matched INCORRECTLY?
foatifipa 31 Inaplol AT Uh ey orgIaciiil @ srerd et ol gorfar 37

[Question ID = 66][Question Description = 146_552_LSCB__Q46]
1. ddNTPs : Chain termination

ddNTPs: ojretr ot

[Option ID = 261]
2. South Western blot: Physical interaction between DNA and proteins

A3 Icol qetie: DNA qerr gicter @ dia siifere weue fppn

[Option ID = 262]
5" — 3' exonuclease activity : Proof reading polymerase for PCR:

5" — 3¢ TGHIG[GAUS G : PCR o 31U 9iid dldd (Proof reading) UIRITHRS

4 5:‘;2?” ':Q,éjﬁgsgggggjgcgioqugfgegr%%g%: visit: www.biologyscholar.com, or contact: +91-7021673266

fixe fg-3iw2 (Yeast two hybrid) gunefl: giciell @ dfa uszque fagen
[Option ID = 264]



visit: www. bl0|f ysql)mlar com, or contact: +91-7021673266

47) For a nuclear spin of spin quantum no precessing in a magnetic field at a Larmor

frequency of 300 MHz, the wavelength of incident radiation required to excite the nuclear

spins must be approximately

UeishUl dalcH Sl (1_—) s AR SER 300 MHz R U6 9@ &4 H QTN & U
(BT Taeh Ul & (o, AITHPT Hashull &f Ufhd S g ST fafdRul &1 HFH1-d aoTee
HRIEIRY

[Question ID = 67][Question Description = 147_552_LSCB__Q47]
1 nm [Option ID = 265]

1 cm [Option ID = 266]

1 m [Option ID = 267]

10 m [Option ID = 268]

A W N -

48) Widal test, a widely used serological test for enteric fever, is a type of
farster udistor, siifee gar & R EIU®G WU A IwRET b Sitel arcr v i udisor, soidl tb gor 3
[Question ID = 68][Question Description = 148_552_LSCB__Q48]
1. precipitation reaction
SIagIuuT JfdfenRIr

[Option ID = 269]
2. agglutination reaction

gl sifdrfepRn

[Option ID = 270]
3. complement fixation test

gop RBerdiasaur udtemor
[Option ID = 271]
4. immunofluorescence detection
gfersmyfercifer sfageror
[Option ID = 272]

49) Fluorescence microscope that requires photoactivatable probes to obtain super-resolution is
gferéifft Jgacoll Rl 3aaue favigat (super-resolution) Yrad 2ot @ fere yororifigzie usifdng &t sragRriemar aicdl 3

[Question ID = 69][Question Description = 149_552,1LSCB__Q49]
1. Structured illumination microscope (SIM)

R Yt Jgarcolf (SIM)

[Option ID = 273]
2. dSTORM - stochastic optical reconstruction microscopy

dSTORM - yzistar gfqur Yoifolamur geagoffar

[Option ID = 274]
3. Stimulated emission depletion mieroscopy (STED)

R 3RSk srasrr Jgcstiar (STED)

[Option ID = 275]
4. Laser scanfiing confocal microscope

CIoR S[ciiepol ot Jgarcoff
[Option D = 276]

50) A protein solution (0.2 ml) of unknown concentration was diluted with 0.8 ml of water. To 0.5 ml of this diluted
solution 4.5 ml of biuret reagent was added and the color allowed to develop. The absorbance of this mixture taken in a
test tube of 1cm diameter at 540 nm was observed to be 0.20.

0.5 ml of BSA (4 mg/ml) solution plus 4.5 ml of biuret gave an absorbance of 0.20 when measured as above. What is the
protein concentration (mg/ml) in the undiluted unkown solution?
31T Aigar @ v Gidiel fertat (0.2 ml) @t 0.8 ml ureft A agma fop=n sk 331 aggmd feriar @ 0.5 ml 3 4.5 ml arfpe it ot
RBrcTRIT SR den 381 @ JHaeicl I dlol 61 SR 33T RBIYUT T JAANYUIIB DI 1CM TRT B U WR¥MoIctl 3 540 nm uR fermm srim aer 0.20 urn
srnm BSA (4 mg/ml) @1 0.5 ml mrer 3 arde o1 4.5 ml @1 sraonyurics IURIad YR A Bl UR 0.20 URHN SR 31S11d 3idoldd frcrret 3

Qe &bt Aigar (mg/ml) azm 3?7
[Question ID = 70][Question Description = 150_552_LSCB__Q50]

ig {ﬁi?%ﬂ@%boachmg of life science : visit: www.biologyscholar.com, or contact: +91-7021673266
. ption

50 [Option ID = 279]

80 [Option ID = 280]

AW N -



Topic:- 703SH1_PARTC_CSIR/EiBAGRI biologyscholar.com, or contact: +91-7021673266

1) A schematic of a metabolic pathway is shown below.

G =1 = K

bD— E —» F

\H—bl - L

Under which of the following conditions would stoichiometric amounts of end products K
and L be obtained if a concerted feedback inhibition mechanism were in operation?

Udh SUI=d UY & 3 @1 - g2iian T &

G =1 — K
< CC)
D= E — F
\\""—bl—bl

qﬁwmm@mﬁwmﬁmqﬁmaawmwmﬂm‘Q\’

SifaT FWa! K TUT L Bt ITTHS0HS g A urd grfiz ?\

[Question ID = 71][Question Description = 101_553_LSCC__QO01]
K inhibits F—=G and L inhibits F—=H; D—E is inhibited at equal amounts of

1. K S(aRITYd BIAT Bl Fo G DI YT L SR BT 5l Fo H DI, K TUT LB A 30—
E SARIFT BT gl

[Option ID = 281]
D—E is inhibited at equal amounts of K and L; K inhibits F—=H inhibits F—G

2. K 9T L T 99 A6 IR D E SR BIdT B K %F—»Hﬁrﬂ%m&mﬁﬁlﬁ
FAI 8l F— G Bl

[Option ID = 282]
D—E is inhibited at egual amount of G and H; K i

G YT H & I 33 W Do E AT Bidl

[Option ID = 283]
K inhibits F=H and L inhibits F=G,
K SIS BT & Fo H DI T BFLGl

ibi H and L inhibits F—=G,

BT Bl Fo H DI TUT L HIATHT Xl 8l F— G Bl

[Option ID = 284]

2) The following stateme XQ made to define the Michaelis constant (K,,) . It is:
A. Independent of€nzym centration [E] and substrate concentration [5]

L 4
iation constant when the [ES] complex dissociates more rapidly than

e dissociation constant when product formation is more rapid than [ES]
sociation

n intrinsic property of an enzyme and does not depend on pH, temperature and ionic
strength

Which one of the following combination of statements is correct?

HiEided RIS (k,,) P aid $H & &8 74 Y 91 1T
A T8 UolTgH il [£] 7Y SHsed Trsdl [S] § Wda sidl 6l
B. 919 [£5] o Iarg Fmfor &t goen o e ¥ faaifa Bid § o o fagen RRis & oo

gifFer Online Coaching of life science : visit: www.biologyscholar.com, or contact: +91-7021673266

c. 99 3w A [es) fyor & fagem @1 goqn & e @ gfar & of 98 fogies RRie &
OO BT 2



D.x, UP UogA @ wfiSiveRiQieay srhplpreamy auremiprt fiddr (R316734p6
I g

@l @1 FEifed B 9 s fHaH 9l 87
[Question ID = 72][Question Description = 102_553_LSCC__Q02]
1. Aand B only
Dact A den B

[Option ID = 285]
2. A, BandD only

dact A, B aen D

[Option ID = 286]
3. Cand D only

Dact C aer D

[Option ID = 287]
4. Aand D only

Dact A aen D

[Option ID = 288]

3) The table below lists the biochemical characteristics of proteins and experimental procedures used to determine them.
Match the characteristics with the experimental procedure.

List | List Il

Biochemical Characteristics Experimental Procedure

A. 3-dimensional structure I. Nuclear magnetic resonance
B. lonic Charge Il. Isoelectric focusing

C. Binding specificity Ill. Affinity Chromatography

D. Molecular Size IV. Ultracentrifugation

Which one of the following matches is correct ?

foraratifea It QIéiell @ SiarrIrIfore aiférergvl aerr Jotot foreiia wol @ fre fipu sRY YrRIBe yftprsii &t I1ht yetor wear 3 sifdretgivil o1
yrNBres gitpan & At Jgafera o3

et | et I

SRR sifdreteiot grNBre gitgan

A. 3 fafdrdilr dvaen lenedniy] gafarbRI Solelre

B. 3RIfores 3mraor 1. gt JideIgur

C. smeieror Ridrgear I11. siggar aoferaoer

D. snfdad PR IV. ga sradeigur

foretifpa wler-a1 AdAdd® 3?

[Question ID =73][Question Description = 103_553_LSCC__Q03]
1. A-lllgBwl, C-I1I,D-1IV

[Option D = 289]
2 A=, B=llL, C-11L,D-IV

[Option ID = 290]
3. A-ILB-1,C-1I,D-1IV

[Option ID = 291]
4, A-IV,B-1l,C-1,D-1l

[Option ID = 292]

4) A 9 c
'%: A (emisson maximum) E Far-Uv CO it: Near-UV CD
S | 327 340 350 oo -
= s .
sl . ] . g
E - Or ine Coaching ¢f ww m, or contact: +91-7021673266
o =
2 3 %




300 380 190 250 250 T
A Wavelength (nm) visit: www.dsiglagyischolar.com werieentact: +91 -‘%21 673266

A circular dichroism spectrum in the far-UV region informs on the kind and content of
secondary structures in a protein. Near-UV and tryptophan emission spectra inform on the
tertiary structure. Shown in the panels above are (A) Intrinsic fluorescence emission spectra
of protein X', (B) Far-UV CD spectra of protein ‘X', (C) Near-UV CD spectra of protein ‘X’
recorded under different conditions.

Curves represent the spectra of protein "X’ at pH 7.0 (black), pH 3.0 (green), and pH 7.0 in
the presence of 6.0 M guanidine hydrochloride (red).

What does the experiment report?

A B &
g 3 (emisson maximum) E Far-Uv €D fé Near-UV CD

& | 327 340 350 b §
£ a

% § E

S g

] = o

4 = b
2 % %
2 % 3

4
300 380 190 50 250 300
A Wavelength (nm) Wavelength (nm) Wavelength (nm)

dad & 9R ¥ gfod #3d §1 Fide WETH (Near-Uv) 39T REHH I0e
AT & aR H Y1 UeH d3d & | SR Yeikid o ufg @il # (a) W x
I, (B) WIEH ‘X' &1 ggT WIETH! (Far-UV) CD duighH, (C) faf¥=T afif&fc
UIEH x &1 Fide TUaTt (Near-UV) €D FUiHH|

ash UIdH ‘X & JuishH ®I &M € pH 7.0 (@) R, pH 3 2% 6.0 M T3S
SESIRIRIES B JURIRI F pH 7.0 (<7Te) U1 W41 5471 Ufa >

[Question ID = 74][Question Description = 104_553_LS 4]
1. Protein is fully folded at pH 7.0, acid-induced molten globule 3.0 unfolded in 6M guanidine hydrochloride.

pH 7.0 w2 qictor guicen afera 8, pH 3.0 w swiet Y3 gfaa siferat 6 BISSINCIRISS 3 3aferd

[Option ID = 293]
2. Protein secondary structure is reduced at pH 7.0 an

pH 7.0 w2 qicior fgediRa Jiden wa 2l Sidr 8 den al ferIl 3 gictol of dfier dolgd ToIRI

[Option ID = 294]
3. The changes in fluorescence and near-

gl crerr forve werdstoft CD 3 o 6M 3panforfSer arEgiaciRIss 3 gaelferbr srefaziet 3 gfy @t Gorfar 8
[Option ID = 295]

4. There is extensive denaturatio protein both at pH 3.0 and in 6M guanidine hydrochloride.

pH 3.0 w qer 6M 3, Sloil 31 Yiclel o1 SiRIferd faapferapur 3

roteins (A, B, C, D) are shown in the table below:

pl
4
B 5.5
C 7
D 9

To purify ‘D’ from a mixture of these four proteins in a single step, using ion-exchange chromatography, what combination
of buffer pH and ion-exchange resin would you select?

ar Q& (A, B, C, D) @1 pl foret 3t 3 corfan sk 2:
Protefnor Opilline Cpaching of life science : visit: www.biologyscholar.com, or contact: +91-7021673266

A 4




B 5.5

c visit: www.biologyscholar.com, or contact: +91-7021673266
7

D 9

3RIGT- fAforRT auiciidct @1 IuRNeT WD UM &l TRuT i $of arR Qidlell @ fiepur A Yidlar ‘D’ @1 oleret ol @ fore JsrRIel pH den 3iRIer-
frforert 3161 @ Blot A AAISTol DI Jolld BIdI?

[Question ID = 75][Question Description = 105_553_LSCC__QO05]

1.

pH 11, cation exchanger resin
pH 11, oirior fafowrr drer

[Option ID = 297]
pH 2, anion exchanger resin

pH 2, spuirrer fafowrr 3orer
[Option ID = 298]

. pH 6, anion exchanger resin

pH 6, spuIRIel fafowerr oot
[Option ID = 299]

pH 8, cation exchanger resin
pH 8, trotrror Rfwrr ot ¢
[Option ID = 300]

6) The curve B in the figure below shows the oxygen dissociation profile at ph%g

concentration of CO3 and at pH 7. O

Saturation

& &g Ao [qUieH HIeRg &1 319 gfard fohan S

[Question ID = 76][Question Description = 106_553_LSCC__Q06]

1.

4.

curve B (no change in the dissociation profile)
@, B (feriister grera saf¥afefa)
[Option ID = 301]

. curve A

aaq A

[Option ID = 302]

. curve C

a For Online Coaching of life science : visit: www.biologyscholar.com, or contact: +91-7021673266

[Option ID = 303]
curve D



aaq D
visit: www.biologyscholar.com, or contact: +91-7021673266

[Option ID = 304]
7) Following statements were made about chromosome cohesion during mitosis and meiosis.

A. Though cohesin is important for pairwise alignment of the chromosomes on the mitotic spindle, it is not important for the
generation of tension across the centromere.

B. Cohesin binds to the chromosome even before the initiation of S-phase.

C. In fission yeast, centromere specific localization of Moa1 and Rec8 regulates the orientation of kinetochores at meiosis-I.
D. Cohesin exhibits uniform distribution/localization pattern across the chromosomal length.

E. Polo/Cdc5 is a positive regulator of Separase, an endopeptidase that facilitates opening of the cohesin ring.

Which one of the following combination contains all correct statments ?
RIS aun sielRpdifenirsior & Sikiol PR AHisiel ® Jics! 3 oyl Berel Jole s

A. zEftt D1RRI6 (cohesin) SPRIGE @ PRI AF UR JPPICRIR Il D fére wsaayut 3, s IPRIYelg @ uftsl dolra Iqlolel ®al D
fere  reqayyf o& Aar @

B. 13R101 S-3razqan YR dof @ yd &t SR A der Sirr 3

C. Rsor Akye d, Moa1 aan Rec8 o1 sprRIdfdelg fafdme snaolerst/ AumiRmu1 sreRdifanis-1 # BrEeIcioR, @ iffifieRRT oI forafea
D 3

D. ®1R3R1el PRIy @ card @ uf*gr el faarur/FereiiRa=u1 ey corfar 3

E. Polo/Cdc5 3u3st (Separase) @I b eldqid/ ADRIHD foRI#I® 3, A6 UPb TolsIUUCESSl 3 Sil b ®I3Riel 2RI ol Hiclol Pl oI FTolidl
8

foraetifepa 3 A ol AT wep Bretrer it 8 PGl A gaa 37

[Question ID = 77][Question Description = 107_553_LSCC__Q07]
1. A, Band D only

dact A, B iz D

[Option ID = 305]
2. A, CandE only

Dact A, C3ic E

[Option ID = 306]
3. B, Cand D only

Dact B, C iz D

[Option ID = 307]
4. B, CandE only

dac B, C sik E
[Option ID = 308]

8) Which one_ ofi\the following is valid with respect to, one step growth experiment developed by Ellis and Delbruck in
1939?

1939 3 Saagmd, aeIr efer1 gRI R uvwd arvur gl eyRIeT & Hder 3 forieifcsa miel AT v AR 37

[Question ID ="78][Question Description = 108_553_LSCC__Q08]
1=, The reproduction of large phage population is synchronized.

ferorret fersiisfl JJSTI I Yslolol AdADIclol Bl &

[Option ID = 309]
2. A culture is directly developed by inoculation of single bacterial colony from the agar plate into liquid medium.

P dtlel S fb PR (agar) yele 3 vdbel Sfarv] dicilofl @ del Adelor ARRE i AAUvT A YeRiel 74U A AR o sk &

[Option ID = 310]
3. Involves only a single step of overnight culture development followed by inoculation of a fresh medium with 1% inoculum.

S0l el UD Bdbel TRUI UP Ad Pl Adelol DRI aquerd 1% IR DI IRV Ub R Adelel ALRP D Dl b BIdl &

[Option ID = 311]
4. Only a single carbon source such as glucose is used in the medium.

)chirsg Bflifesseigmcan avisit: www.biologyscholar.com, or contact: +91-7021673266

[Option ID = 312]



9) Given below are a few statements about nuclear transport.
visit: www.biologyscholar.com, or contact: +91-7021673266
A. RanGTP levels are higher in the nucleus than the cytoplasm.
B. Nuclear import receptors can shuttle between the nucleus and cytoplasm.
C. NTF2 transports RanGDP into the cytosol.
D. Export of mRNA is not directly dependent on Ran.
E. tRNA and miRNA export is mediated by exportins.

Which one of the following combination contains all correct statments ?
Sfid DorgdR MfeTErer & Jcst I T Berl 3w s &

A. RanGTP @1 IR Difdrpiga &l detoll i dolgep 3 3qd aldl &

B .@oigbRRI 3MRII spfdei Mol A2l DHIPIGHRI d &l daPHe B2 JDd &
C. NTF2 RanGDP @t wifdrmifarcrr 3 sif$pifda waar 3

D. mRNA @1 forifa gerier »a 2 Ran uz 3nfdf oiét aiar 3

E. tRNA aemr miRNA @1 forrfa garaifesil gt aeRrer alar 3

foetifipa wlol A1 uap Jret Mefl A& el 1 yefdfa waar 3?7

[Question ID = 79][Question Description = 109_553_LSCC__Q09]
1. A, B, C, Donly

daet A, B, C, D

[Option ID = 313]
2. B, C, Donly

@aal B, C, D

[Option ID = 314]
3. A, B, D, Eonly

@aed A, B, D, E

[Option ID = 315]
4. A, C, Eonly

daci A, C, E
[Option ID = 316]
10) During cytokinesis, a small GTPase;\RhoA{ localizes to the equatorial membrane above the spindle midzone. The
localization/activity of RhoA is potentially modulated by:
A. RhoGEF Ect2
B. Aurora B kinase
C. PLK1 kinase
D. MKLP1 kinesin
E. ATM and’ATR

Which oneof the following combination contains all correct statments ?

PIIBIGTI- faisar @ Sirel, v g GTPase, RhoA eI aa & SuR eRradd! Ricfell uz sraf¥erd 8t 2 RhoA &l Jermcfiasur/fgzmofterar
9IRIA: SolA formfdre Bk 3:

A. RhoGEF Ect2
B. 3RRI B ®r5olst
C. PLK1 ®rs0oist

D. MKLP1 ®rEerst

E. ATM aem ATR
q J{?%le—li{'}g Co%(%gri&rlllg%glife science : visit: www.biologyscholar.com, or contact: +91-7021673266



[Question ID = 80][Question Description = 110_553_LSCC__Q10]
1. A, Band D only visit: www.biologyscholar.com, or contact: +91-7021673266

dad A, B, D

[Option ID = 317]
2. A, B,C and D only

@aa A, B, C, D

[Option ID = 318]
3. B, C,D and E only

@aa D, E, C, B

[Option ID = 319]
4. A, Cand D only

@ad A, C, D

[Option ID = 320]

11) Cellular actin levels can be as high as 100-400 pM. Of this, unpolymerized actin concentration can be as‘fmuch'as 50-
200 pM. However, the critical concentration for actin polymerization in-vitro is about 0.2 pM. Some of the following/proteins
inhibit polymerization of actin in cells.

A. Thymosin -B4

B. Capping protein CapZ
C. Tropomodulin

D. XMAP215

Which one of the following options lists all inhibitors?

PIfdrbIRI uftrest @1 AR 100-400 mm freon Igra 3l Al 3 3ol srageifepd ufdrest &t Aigar 50200 mm frdelr 3ga a1 Al 3 refty, urg
ufdreot agcliavr ol Giferes Aigar ceneT 0.2 p mm 3 s Yidlell & suf¥erfer & oruly sragefisd uftrest o1 BIfdrbIs 3 agcliaur o1&l lar &

A. emsaIf3rer -Ba

B. sires (Capping) iétar CapZ
C. Qaigyfror

D. XMAP215

19l 38 Sapgiicar] Jaxe e DI Jolld DI

[Question ID = 81][Question Description =1114553_LSCC__Q11]
1. A, BandConly

daer A, B aiiz C

[Option ID = 321]
2. B, Cand D only

@act B, C 3z D

[Option ID = 322]
3. C, D andAonly

daa C, D siz A

[Option ID=:323]
4. D, AvandB only

@aciD, Az B

[Option ID = 324]

12) To delineate the steps in endoplasmic reticulum (ER) transport, a PhD student homogenized pancreatic acinar cells to
isolate microsomes, which retain most of the biochemical properties of the ER. For this experiment, the student has planned
a number of controls as mentioned below.

A. Treat one set of microsomes first with detergent and then with protease.

B. Treat one set of microsomes with protease only.

C. Treat one set of microsomes with micrococcal nuclease.

D. Treaborenknef Goackingsofitfedeciegtee onisit: www.biologyscholar.com, or contact: +91-7021673266

Select the option that represents the best combination of the controls.



st snferept (ER) sfdemrer 3g onreRinistogydarotar Rivhare pemmet i 8 EROD 8y 3agarafore ol @ some 2ad &,
Jolbl gerd ol @ fo1e SPeRIIRN DIysd! BIfdrmIsil ol Feicliad e 531 YRIPT & fo1w, 819 of @ AR foriqedl (controls) o 3ot &t
AsToll solrRft S b ofir gorfer arem 3

A. cgeRI & TP A3AE DI Usd Beste A suanfra o e qifewst 2

B. crgril @ U Age B dac QResT A Juafya oI

C. ORIl & Td AHPE DI ASDIDIDD ogfareIgst A Iuaiiyd ®3

D. crgeoRil & Tw s B Dact eske A Iuarfya o3

3 feperu @t gotra o3 St {6 foriqal (controls) & FId3uriaa de @ gorld &

[Question ID = 82][Question Description = 112_553_LSCC__Q12]
1. A, BandD only

Dact A, B demr D

[Option ID = 325]
2. B, Cand D only

@dact B, C @en D

[Option ID = 326]
3. Aand Conly

Dact A aen C

[Option ID = 327]
4. Band D only

Dact B a@er D
[Option ID = 328]

13) Following statements were made about imprinting in the human genome.

A. Imprinting control centre (IC) harbors part of the SNRPN gene.

B. Imprinting of genes in an individual cannot be tissue specific.

C. Sperms and eggs exhibit identical pattern of genome methylation, except in the sex chromosomes.
D. At imprinted loci, expression depends on the parental origin.

Select the option with all the correct statements.

forager et Aot sl 3 Rioear @ Ader a5 R

A. Riogar forrergur wog (IC) 3 SNRPN Sfler @ sior a1

B. v qriftp 3 Shicil @1 RogeLSam Yo fafdrye oiél af Amar

C. feiot sprRIgE & iferf¥ad MIVIT delT USIY Aol Yferpfer & Hoflor dermsciiazor gorfda 3
D. fafsaa fartere Uz 3if¥igpifts g 3ga uR snenfya aar &

13fl 218l el alenfibea @1 golra &3

[Question D, = 83][Question Description = 113_553_LSCC__Q13]
1. Afand D

A aen D

[Option ID = 329]
2. Band D

B aemr D

[Option ID = 330]
3. AandC

Aden C

[Option ID = 331]
4. Band C

B aen C

[OptEQ{DQQQ?e Coaching of life science : visit: www.biologyscholar.com, or contact: +91-7021673266

14) Mitochondrial protein synthesis is of prokaryotic origin. Following statements are being made about the ribosomes from



bacteria and mitochondria: .
visit: www.blologyscholar.com, or contact: +91-7021673266
A. The bacterial ribosome consists of small and large subunits of 30S and 50S respectively, whereas in mitochondria of

mammals these subunits are of 28S and 39S

B. In the bacterial ribosomes the RNA: protein ratio is about 2:1 whereas in mitochondria ribosomes this ratio is usually 1:2
C. Both the bacterial and mitochondrial ribosomes consist of 30S and 50S subunits

D. Both the bacterial and mitochondrial ribosomes consist of RNA and protein in the ratio of 1:1

Choose the option that represents all correct statments.

JIPOTBRI Giéiol ACTHUT YIRdolGdRI el I Bl 3 SHarv]sii den g iOrmIsii @ Asdrdldal @ s I forfer merel TeIrl sRI

A. Sitaruy IrsdiAla 3 @arer: 30S den 50S @ oy dr 3Rs JuTdd B 8, Siafd Fdeenf¥=il d Jgairmr 3 As suedd 28S der 395,310 8
B. sfiaruy rsadE @ RNA: Qiéer sropurd cemiet 2:1 8idr 3 siafds JgavfordbiRa sdidl 3 s siofurd AtAreRIaRI 1:2 giar 8

C. sfiaifdaes qerr JgerbRI AsdRAE Sl6tl, 30S aer 505 Iuwad! A ol 3K 3

D. sifaiftas aem gaivrbRrI usdrAlEd cloll, RNA aer gicior @ 1:1 3rofurd A ol 3Id &

Il St sl DI goliel arel fdaeu @1 Jolrd B3

[Question ID = 84][Question Description = 114_553_LSCC__Q14]
1. Aand B only

Dact A aen B

[Option ID = 333]
2. BandConly

Dact B aer C

[Option ID = 334]
3. Cand D only

@dact C aer D

[Option ID = 335]
4. Aand D only

Dact A aen D
[Option ID = 336]

15) Given below are a few statements about the Adinfection cycle

A. Competition between cl/ and cll gene products determines the establishment of lysogeny versus lysis.
B. cl binds Or1 first while cro binds to Or3 first

C. Cro binding to Or repressesicl transcription

D. Rich medium favours lytiecycle because cll is protected from cellular proteases

Which one of the following options represents all correct statements?
ofla  Agpgiasg & 2icy 3 oo P Ru s &

A. cl\qem.cll sitor Sauict &t dfa & gferqual cRIsiolol dolié cRiol @ F el ol forerffya o &

B. cl'ardgersr Or1 A derar 2 siafds cro adyersr Op3 A derar 3

C. Cro @1 OR 31 amrderel ¢l sofcieet @ sl wer 3

D. 3d=/ 139 Jiatiol ATEREI TRIel Ty B 3efdAlfed war 3 apiifes cll oifdrblu gifewa A fdra sar 3
Rrapiiftoa et AT o Ricseu w9l 78 Deroil Bt Yo waar 37

[Question ID = 85][Question Description = 115_553_LSCC__Q15]
1. Band C

B e C
optflRipQ@nBlie Coaching of life science : visit: www.biologyscholar.com, or contact: +91-7021673266
2. AandB

Acen B



[Option ID = 338]
3. CandD visit: www.biologyscholar.com, or contact: +91-7021673266

C aer D

[Option ID = 339]
4. Aand C

Aden C
[Option ID = 340]

16) Reproduction of $x174, a single stranded DNA phage involves several steps. A few
statements are given below to explain the mechanism.
A. The single stranded ¢x174 DNA is converted into a double- stranded replicative form (RF)

B. Replication of double stranded replicative form results in the production of single
stranded phages, about 50% of which are +ve sense phages and the remaining are —ve

sense phages
C. Replication of the double stranded replicative form results in the production of only —ve

sense phages ‘ ’

D. Replication of the double stranded replicative form results in the production of only +v
sense phages

Choose the option that correctly describes the process

¢ x 174 © Yo H, T Udhd Ioud DNA IS 3= ol § deg Eal
aftfd &3 & fore 92 os Bud R0 8

A. Tl To9] ¢ x 174 DNA T {g-Too[dh Wlddidd U (RF) H T gl

pfE-3o® ufieliid Y 31 ufipiagd tehd 9D @ &, [org@l 50%

+ve HHEET [GHISTT quT dTd! —ve ARG faHISIl
C. fg3v9d Uldopiad w9 &1 Uidbiag odad —ve DI I P B

D. ff-3ou@ UioPfa® ¥ & Uiad e ad 4ve A= il & 30 &34 &

[Question ID = 86][Question Descripti VSB_LSCC_QM]
1. Aonly

et A \

[Option ID = 341]

2. Aand B

[Option ID = 344]

17) Which one of the following schematics depicts the potential relationship among the subunits llo, lla, and IIb of RNA
polymerase II?

forapatifcsa @lat AT 3 RNA diciisrst-1l @ Suwwmi llo, lla, aen lIb @& &a o snfaa idel @1 corfar 37
[Question ID = 87][Question Description = 117_553_LSCC__Q17]

Kinase

————— 3 | [
Phosphatase

" o qunlipe/eeaehing of life science : visit: www.biologyscholar.com, or contact: +91-7021673266
Iib

Ila



[Option ID = 345]
Phosphatase visit: www.biologyscholar.com, or contact: +91-7021673266
—————

— llo
Kinase

2.
Protease Protease

ITb

Ila

[Option ID = 346]

Protease

3.
Pnoapmlaa«\‘ ‘/'ncupmamuo

1=}

[Option ID = 347]

Protease
Ila _ Jlo
Phosphatase

4.
Kinase\ /(lna 58

Ib

[Option ID = 348]

18) DNA replication occurs in S phase. The entry of cells into S phase is regulated by the tumor suppressor protein Rb. The
statements below are made with reference to the role of Rb.

A. Rb binds to E2F in the cytosol and prevents E2F entry into the nucleus.
B. Rb is phosphorylated by cyclin A/ cdk 4.

C. Phospho Rb activates E2F.

D. E2F activates cyclin E production which promotes the G1/S transition.

Which one of the following options represents all correct statements 2

DNA yferepferior S srazgerm 3 alar & ifdreisii @1 S srarien 3 yaor o1 BrigoT snds caerorst Yidier Rb Rt dlar & fowtifésa weret Rb &t
yfdroor @ Jigst I doird oY &

A .ifdrpifackr 3 Rb E2F 3 derar & aen doigas 3 E2F o5 gaor «f Awar 3

B. Rb @1 wRIwIf¥ciimur cyclin A/ cdk 4 grr aar

C. wr1bIma Rb E2F o aafeg wear 3

D. E2F cyclin E @ 3qurcer @1 aftpa ozarad sihifp/G1/S Adavt o Yioleld @l &
forpatifcsa ®lal A1 v faperu it 2181 @ereil B gorfar 3?7

[Question ID = 88][Question’Description = 118_553_LSCC__Q18]
1. A, BandConly

@dact A, B aern C

[Option ID = 349]
2. B, Cand D only:

dact B, C demb

[Option 1Dy= 350]
3. ApC and D only

Daar A, Caen D

[Option ID = 351]
4. Cand D only

Dact C aer D

[Option ID = 352]

19) The following statements are made with reference to DNA replication:
A. Camptothecin causes intra- strand and inter- strand crosslinks in DNA, leading to stalling of replication forks.

B. Prevention of reinitiation of DNA replication during the same cell cycle is mediated by regulating the loading of the

1n1t1ator complex ORC.
For Online Coachlng of life science : visit: www. bloloqyscholar com, or contact: +91-7021673266
C. A glu — ala mutation in the nucleotide building pocket of DNA polymerase Il could lead to the incorporation of

ribonucleotides in the extending DNA chain.



D. A mutation in the gene encoding Topoisomerase Il could lead to entanglement of DNA dau%hter strands during
replication. visit: www.biologyscholar.com, or contact: +91-702167326

Which one of the following options represents all correct statements ?
DNA yferapferior o ider 3 forqol derel Jollu a1u:

A. SauciAfiter DNA 3 siiar-3S[EId el SeR-3SEId PRIbde6T ®f PR® dold 3, RBRIRI &b gferapferier gomd srawg 3l sid 3

B. 3=ft ®ifdrnt aag @ Sieret DNA gferapferier @ yolgrsier @ forarur &t aepRiedr yrerel 2ifdg] ORC & sirur @ foriqur grI alar &

C. DNA dicfierds 1l & saftperiierss forfor wief¥et d v glu - ala Squi¥ade friga 31 23 DNA gjzen 3 IsdloRIfIeRIICSS & AATA9IGT
BT PRD ol ADAl

D. AusnsARR3A || @1 dedt @2 3 Shiel 3# v squi¥ada gferapferier @5 Sivrer dafer DNA IS[EIol @5 3crsid a1 GRS ol AdD«dl &
foraetifepa 3t A Dol AT v Bietrer 130 & DGl B et @1 ygfdfa ol 37

[Question ID = 89][Question Description = 119_553_LSCC__Q19]
1. Aand B only

Dact A aern B

[Option ID = 353]
2. BandConly

Dact B aer C

[Option ID = 354]
3. Cand D only

Dact C aer D

[Option ID = 355]
4. B, Cand D only

®act B, C aem D
[Option ID = 356]

20) The population that is at highest risk against influenzavinfection should be immunized annually. Which one of the
following is the most important reason for this?

SIORIXTRI il fop SucqusIT AgpauT @ 3Iga SiiRad Uz 3, Jold! YRia/ad dRarR gfereivr o aifde foretifipd oblol AT Udb $ABT AR Asqayul
DRUT 3?7

[Question ID = 90][Question Description = 1202553, LSCC__Q20]
1. Influenza virus can change its surface antigen Very frequently.

SUCICSI fANIY] 3MUel Yug Yfersiol b diqar 3 ufafcla @2 3o &

[Option ID = 357]
2. Influenza virus has a very short‘incubation period.

SUCIOSII fANIV] T BT Gao! DICT TG BICT B &

[Option ID = 358]
3. Influenza virus has areasonably longer incubation period giving memory B cells time to respond by producing high levels of serum antibody.

SIS fAuIY] I AelLGdel oIcl Jellferd St alar & SrRRI b Jpifer B-oplfSrmail ol 3aa sy 3t it yfersiol dolra? gfeifepn 2ol @l IWRI Bt S 8

[Option ID =,359]
4. Repeatedvimmunization interferes with the differentiation of plasma cells from memory cells thereby decreasing levels of neutralizing antibody.

YoRIg Yfereivr JIfer PIfODISi 3 Yelolgll DB & Iadbetol 9 GAAS DIl 3 WeRAFU YfIPRD Yfersiol AR DI Bal D2 odl &
[©ption ID = 360]

21) Localized increases in the cytosolic level of free Ca%*are critical to its function as second messenger. Calmodulin, a
small cytosolic protein, mediates many cellular effects of CaZ*. Which of the following is NOT CORRECT for CaZ*-calmodulin
interaction?

g CaZ* o1 PRI Hez 3 Aeloldg g Soidd el s orasa/Aidam & A1 ORI ool @ fére 3ifer #Asqayel 31 3 wiceisylerneT,
o o DDA Gidler, Ca?* @ ®F DIdbRI Yardi Bt seprRIgar w2 3 Ca? -wlepiigferel uryuites fpm @ fore Bgtiftoa i 3 wie
1 AP oIt 8?7

[Question ID = 91][Question Description = 121_553_LSCC__Q21]

1. Each calmodulin molecule binds six Ca2* jons in a cooperative fashion.

v 6 nlineGoathingeflife? ssienced visit: www.biologyscholar.com, or contact: +91-7021673266

[Option ID = 361]
2. Binding of CaZ* causes calmodulin to undergo a conformational change leading to active calmodulin.



Ca%* DICEAISTfeTol 3 3l Soll $ol Aol @i Uf¥clciol DI DR ol & el S AR PICEISYeTol dofe 3
, visit: www.biologyscholar.com, or contact: +91-7021673266
[Option ID = 362]
3. Since binding of CaZ* is cooperative, a small change in the level of cytosolic CaZ* leads to a large change in the level of active calmodulin.
aeiifts Ca* oI airderol Asmrl didr 8, Ca2* & Iz 3 v sler A1 uldador Afder wreplsferer & e 3 v as1 ufdddel o &

[Option ID = 363]
4. One of the many enzymes activated by Ca2*- calmodulin is cCAMP phosphodiesterase, which degrades cAMP and links CaZ* and cAMP signaling.

CaZ*- wreplisfersl gRI ARLRIA ©f Usisall 3 3 v CAMP BRIBISEERYT 3 il 6 CAMP @1 siuatur wdr & der CaZ* va CAMP 3iddel I JAufdsa wzr &
[Option ID = 364]

22) Some cellular and extracellular proteins are enlisted in List | and their typical characteristics are enlisted in List Il

List | List Il

I. In human genome, one gene of this protein is present but many different isoforms are there due to

A. Nidogen . -
alternative splicing

B. Fibronectin [Il. An intermediate filament protein that is typically expressed in epithelial and mesenchymal cells

C. Integrin Ill. One of the principal structural proteins of basal laminae.

D. Vimentin [IV. Heterodimer of a and B subunit and binds to extracellular matrix proteins.

Which one of the following is the most appropriate match ?

@O DI der difdrerarar Yiclol wic A 3 IJciiag 3 den Iord cngifidre 3ifircigol ofcer B # Iciiag Rpu®e

ictat A @icat B |
A Rrersrer | ot zisfior @, o1 Pétor B T & Sfor JuRera AA 3 Uy Ao ideror S DRI 33D fiffiofr FATERT TR o1 3
B. wrsqioifarest ||l. v seRrard! dog Qicter siifes fafdrge U A 3udsenn qem ALRIAD B3I 7 IR i 3

C.soRBrr  |lIl. 3mendt Fafyor 3 UR) SIe! aIc U YgRa ATl @ID Gidtor

D. asdfocar IV, a aen B Suuawel a1 faueifgart aen oifdrbrarar snendl gidell A dedans

foraretifepa wior AT v AdSwRiama et 37

[Question ID = 92][Question Description = 122_553_LSCC__Q22]
1. A-,B-1,C-Ill,D-IV

[Option ID = 365]
2. A-1,B-1I,C-1V,D-I

[Option ID = 366]
3. A-lILB-1,C-1V,D-1l

[Option ID = 367]
4, A-1l,B-IV,C-1,D-1ll

[Option ID = 368]

23) Following statements have beenyproposed for cancer cells and cancer stem cells:

A. Cancer cells mostly have mutations whereas cancer stem cells do not.

B. Cancer cells divide'to formtwo different populations of cells whereas cancer stem cells do not divide.
C. Cancer stem cells can undergo self-renewal whereas cancer cells cannot.

D. Cancer cells‘are predominantly resistant to chemotherapy and radiation.

E. Cancer.stem cells are found only in the bone marrow and placenta.

Which one of the following combination of statements is correct ?
DIR (D) PP dAT DA T DIIDISI B cs I forer DUl Falu 31w

A. JxRIa: DR PP 3 Squi¥adol 3l 3 safs D= Aet DI 3 T8t

B. @ DIfIr®mIE I ool DIfOrmIsii d> USRI DI Follol @ fere fpnfora Bt 3 safds B 3e1 DI fpnfsa @t 8 3
C. BIR T DIIDIY IdoIdIoliduT A IGR ADA 3 SEAfP BIR BIVIDIT o1dt

D. @z DIIDIU PRI RGBT aen fafdsor gieried s 3

E. &z JeT DHIrpIe dac f¥eRpIsEN dor geRisle! 3 url Sird 3

— @ﬁ%ﬁ}é@;&gg&:@g%ﬁ%@g science : visit: www.biologyscholar.com, or contact: +91-7021673266



[Question ID = 93][Question Description = 123_553_LSCC__Q23]
1. Aand C visit: www.biologyscholar.com, or contact: +91-7021673266

Aden C

[Option ID = 369]
2. Aand B

Acen B

[Option ID = 370]
3. CandE

C aer E

[Option ID = 371]
4. CandD

C aer D

[Option ID = 372]

24) Which of the following is/are associated with the presentation of endogenous antigens by Class | MHC molecule by an
Antigen Presenting Cell (APC), given the condition that there is no cross-presentation of antigens by the APC?

foraifepdi 3 1 Dla AT v yfersiel gRIgaeR® alfdrmT (APC) @RI ast | MHC 31vy 21 siastia yferster @ gRigferaor A dféa 3, s ufRafa
3 i APC g1t yfersioil @ uz-gRydfer2ur (cross-presentation) st 3?7

[Question ID = 94][Question Description = 124_553_LSCC__Q24]
1. TAP1 and TAP2 proteins only

@dact TAP1 der TAP2 giciol

[Option ID = 373]
2. Invariant chain (/i)

aruf¥adetefier ofae (/1)

[Option ID = 374]
3. Proteosome-like subunits LMP2 and LMP7 only

Ddcl QifeAe-He9r 3uedd LMP2 der LMP7

[Option ID = 375]
4. TAP1, TAP2 proteins and proteosome-like subunits LMP2, LMP7

TAP1, TAP2 qicfot e gifeeiizir-3eor LMP2, LMP7 3uves &
[Option ID = 376]

25) Which one of the following statements is NOT,correct regarding the tetrapod limb development?
dIurIl & UGl @ PRI @ s 3 forEifed did 21, Uh dd AAD oidl 37

[Question ID = 95][Question Description'=, 125_553_LSCC__Q25]
1. As the limb grows outward, the stylopod‘forms,first,sthen the zeugopod and the autopod is formed last. Each phase is characterized by a specific
pattern of Hox gene expression.

SRI-SRI ur @182 bt Re gy yrua o 3, AdyH AcTsAlurs I foriur aldr 3, 2 Sielurs dei 3id 3 3iciurs aI fo@fur 3ldar 8 YRl arul aiasd Sttot bl IR D v
faférye gfersu 3 sifdrerfére dier 2

[Option ID = 377]
2. The zone of polarizing activity (ZPA) is maintained by the interaction of the FGFs from the AER and Shh expressed from the mesenchyme.

ggdtapuT BrRiemu, D yeig, (ZPA)AER 31 FGFs derr seRiiaem 3 sifdrazicsa Shh & SoRICRIGRT gRT Jelle 3X SIIT 3

[Option ID = 378]
3. Although cell'death in the limb is necessary for the formation of digits and joints, it is never mediated by the BMPs, which is only responsible for
differentiating mesenchyme cells into cartilage.

it urct 9 ST ey siejferil ud Sisi @ forir @ fere sraaayyf 2iar 8, a8 wafl st BMPs gt areRril ol 8ier 8, Sit fip ddet sxeRilad aifdrmisii @ surf¥er 3 fifsitedur
@ fee SqaRer giar 8
[Option ID = 379]

4. The dorsal-ventral axis is formed in part by the expression of ~ Wnt7a in the dorsal portion of the limb ectoderm, which maintains expression level
of Shh in the ZPA and Fgf4 in the posterior AER.

YuSRI-31R 3181 I forafur a1rell 3 Ul afdstorRiaR @ gugdi sior 3 Wnt7a o sifdiqafes grr dlar &, Sit fab ZPA 3 Shh aerr o AER 3 Fgf4 @ sifdiqRfep Jar @l ol 3xad &
[Option ID = 380]

26) The Dorsal protein is involved in generating the dorsal-ventral (DV) polarity in Drosophila. The following statements
were made regarding the activity of the Dorsal protein in establishing the DV polarity.

A. In embryos that lack Gurken protein, the Dorsal protein is not translocated to the nucleus of the follicle cells which then

izatign of : - :
i =ik anlllﬁlag ooaé ?n%mgﬂﬁe science : visit: www.biologyscholar.com, or contact: +91-7021673266

B. Though Dorsal protein acts as a morphogen, it is found throughout the syncytial blastoderm of the early Drosophila
embryo.



C. In embryos that lack Cactus protein the Dorsal protein can be found in the nucleus of cells with a ventral fate.
visit: www.biologyscholar.com, or contact: +91-7021673266
D. If the Dorsal protein is blocked from entering the nucleus, the genes responsible for specifying dorsal cell types are not

transcribed.

Which of the above statements are correct ?

3rda (Dorsal) Qiéter SlRilftsenr d gygdiI-3ierR (DV) ggaur @ fomator 3 onfdrer dlar 8 DV gaur @ Jenuen I SRia Qiée @ ®rivag o Jics #
foraret ool Jole s1u:

A. 9ot Rrowdi et (Gurken) Qidlar sigquf¥era aiar 3, Skida Qidta wicliaa P13l & Bl 3 Aeactialtda &l 3 urdl 3 sit b fisz our &
MERIDVT DI DRUT Told &

B .=r=rftr SiRiet yidiol ues Jaenfamril (morphogen) Stz @orl w=ar 3 s yrafdie iRilftelr Ju1 @ dgddolgbl dRMUI B Idd url S &
C. yui fSro1et daed QIélal srgulR-erd dlar 8 SRicl Qiélel ol uo ekl forIfer arcr PIfdrm1sii @ Dolgapl 3 URIT ST APl 3

D. af¢ SiRier yidior @I dolgeml 3 YdoI @l A A &ar sire, gySkI DIt yoRrI @ fafdiftemur o fo1e 3qareril Siiell @I sigfcidol ofdl sldar
3

SR Dldl A DAt AP 37

[Question ID = 96][Question Description = 126_553_LSCC__Q26]
1. Aand B

Acen B

[Option ID = 381]
2. Band C

B aenm C

[Option ID = 382]
3. CandD

C aer D

[Option ID = 383]
4. Aand C

Aden C
[Option ID = 384]

27) Following are certain statements regarding root growth and differentiation in plants:

A. Root hair, endodermis, xylem and phloem reach/maturation in elongation zone of a developing root.
B. The root epidermal cells that are_incapable of forming root hairs are called atrichoblasts.

C. Quiescent center is present just above root cap.

D. In Arabidopsis, an auxin transporter (ABCB4) plays a role in root hair emergence by maintaining intracellular auxin
concentration.

Which one of the following combination of statements is correct ?

foeiifipa e DYsl ulculdl SISI @ gfy aan fafdifSemaur @ ider 4 3:

A 351 3ty 3icroraet, ww frpriofier a1 @ Seffasur ygiq 3 gre aen divars uf¥udadr grga ad &

B. et ar@idacn pifdrme Sit 6 3ct A o1 forafor wor 3 srraref 31 3 o BIgeIRIc Bad 3

CNgIeT 31U @ g3 HUR 9l Dolg Bk 3

D. dafesiftar #, siaralfrbi siiferaer Aigar ol dele Ram: v siifeter uftarses (ABCB4) et A1 o sifesifa 3 v yfdrent sicr o 3
weroil @I PEEtiiksa ot a1 v Aa ada 37

[Question ID = 97][Question Description = 127_553_LSCC__Q27]
1. A,BandC

A, B aer C

[Option ID = 385]
2. B,CandD
5. cE@RLOnline Coaching of life science : visit: www.biologyscholar.com, or contact: +91-7021673266

[Option ID = 386]
3. A,CandD



A, Caer D
, visit: www.biologyscholar.com, or contact: +91-7021673266
[Option ID = 387]
4. A,BandD
A, B aer D

[Option ID = 388]

28) Match the terms used in vertebrate limb development in List | with their descriptions in List Il:

List | List Il

A. EMT I. The cells found within the most posterior region of the limb bud

B. Mesenchyme |ll. The thickening of ectoderm at the apex of the developing limb

C. AER Ill. A loosely organized, mainly mesodermal embryonic tissue

D. Progress IV. Epithelial cells making up the mesoderm of the early somatopleure undergo this transition and get
zone included in mesenchyme cell pool

E. ZPA V. The proliferative mesenchyme that fuels limb bud growth

F. Autopod VVI. The distal part of tetrapod limb

Which one of the following combination of the statements is correct?

DIRDIRIL 3 UIc B frprT 3 GRIT o531 Sifel arcl dict A @ 91l @1 dictd B 3 f$u s1u auisl A1 frcrer &3

@icei- A [ooferar - B

A. EMT |. urg ®feret o sifer uera ygie 3 urilt Sl arcll @ifdrme

B. sreriiam (. fRrprighier urct & ofid uz arerast o1 disi/ddler sl

C. AER Ill. forférerar A qrrafierd, FERIGRN ALRISORIAR YUkl Sas
D qﬁgqaqlv.maﬁ@m@sﬁq{&rﬁmﬁmﬁmmﬁwmzﬁgaﬁ%ﬁmms@amaﬁ@ma@ﬁ@q&ﬁ@
’ SITeT 3

E. ZPA V. gigoficr AeRar Sil fob urg ofcrar @ gis o sayfa o 3

F. siciars V1. diuril @ arc @ g3 el

Deroil/ 9IgGt BT PBlol AT Th AcT AD 37

[Question ID = 98][Question Description = 128_553_LSCC__Q28]
1. A-IV,B-1lI,C-1Il,D-V,E-I,F-VI[Option ID = 389]

2. A-I,B-1l,C-1ll,D-1IV,E-V,F-VI[Option ID = 390]

3. A-V,B-1IV,C-1l,D-VI,E-IlF-1|[Option ID = 391]

4. A-Il,B-V,C-1,D-Ill, E-IV,F-VI[Option ID = 392]

29) Given below are some of the statements in connection with neural tube formation in vertebrates:

A. In primary neurulation the cells surrounding the,neural plate direct the neural plate cells to proliferate, invaginate and
separate from the surface ectoderm to form ian underlying hollow tube.

B. In secondary neurulation the neural tube arises from the aggregation of mesenchyme cells into a solid cord that
subsequently forms cavities to create"ashollow'tube

C. In birds primary neurulation,generates the neural tube from anterior up to the hind limb developing region
D. In mammals, secondary_neurulation begins at the level of sacral vertebrae

E. Anencephaly results when a failure to close the neural tube occurs, resulting in the forebrain remaining in contact with
amniotic fluid.

Which one of the following options gives all correct statements?
forGtifp @e @l DIRsfIl i €l olcll & frprRT @ der 3 3

A. geIfrn dfeerazur # dfefer ug oI N gu BIPIU dfefe us Bifdresil o giy/gzufeda, sidacter aen yug aerrs! d gyemaa aim
sicfoffdd it orcft dotrot & forg R Wit 3

B f&eilke cifeyra:vl 3 v ST 515 A ALRIAdD PIAIPDIEl @ udlid Sl A dfefw! oiell Iauoiet 31 3 Sl b AgurIeld Ud HI¥c oicil Jollol
@ o1 DIyE! 1 foreiivr o 3

C. ufzril @ grefie dftfmram2or i dfet siclt Bt squi 31 A Ao uE urg RiwrIefer Y&ig A 3l 3

D. Faerenf¥il 3, fodize dfmrmor gas A apft dIRed! & AR U= grRe axdl 3

E. woloilR1dcil uftvnfir 8 3 s dfefr oicll @I Jiget sRIwe 3l sl 3, BRI &b sPARaY® @I U Ic@ el A Foll Wl 3
foretifcpa @il A1 v ey M9l Ak PUGI DI Yglel Bl 37
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[Question ID = 99][Question Description = 129_553_LSCC__Q29]
1. A,B,C,DandE



A, B, C,Daen E
[Option ID = 393] visit: www.biologyscholar.com, or contact: +91-7021673266
2. Aonly

Dact A

[Option ID = 394]
3. BandE only

Dact B aen E

[Option ID = 395]
4. C,DandE only

@dqct C, D aer E

[Option ID = 396]

30) Following are certain statements regarding tracheary elements of vascular plants
A. Xylem tracheids are highly elongated tapered cells that conduct water

B. Xylem vessel elements are less elongated and narrower than tracheids

C. Angiosperms may have both tracheids and vessel elements

D. Vessel elements are the only tracheary elements in almost all gymnosperms

Which one of the following options represents the combination of correct statements ?

forrctifcca o werel Jdaseil diell 3 addlr aqdal & a3 3

A. o aif¥forepe sifer Siftfa uach w1fdree Bl 3 Sit b ster yeerer ol 3
B. grs aidet aqd aif3fermisit A e Siftfa aen sdbivf it 3

C. sngadisil & aifforem den aifder aqd Jeil aidl 3

D. ceneEI it sengadisil 3 daa alde! aqd 8 afddrr aqd axft 3
forpotifsa ol AT v Beell B AD Acl DY gorlar 37

[Question ID = 100][Question Description = 130_553_LSCC==Q30]
1. A, Band Conly

Dact A, B aen C

[Option ID = 397]
2. Aand Conly

Dact A aern C

[Option ID = 398]
3. BandConly

Dact B aer C

[Option ID = 399]
4. Band D only

Dact B aem D
[Option ID = 400]

31) Following are certain statements regarding phytochrome interacting factors (PIFs), a family of proteins that regulates
photomorphogenic response in plants:

A, PIFs promote skotomorphogenesis by serving as transcriptional activators of dark induced genes.

B. PIFs on interaction with P, get phosphorylated, followed by degradation via the proteasome complex.

C. The degradation of PIFs takes place in the presence of light.

D. PIF-induced genes are not expressed in light.

Which one of the following options represents the combination of correct statements ?

ool @ el ureuavics SRR wR®I (PIFs) a5 Fder 3 3, gidisil @I uw gel Sl & il d yororizasniaerRil yfafpn oI forifea
[ o273 &N

A. PIFE GiéRpt BoR@ It Raighlife SHQRGEs WSitnbiRiQlo gikrhaalRtR & iaRalash $91-7/021673266
B. PIFs &I P, @ A1 soRiIcafpar @ U9 BRIBIRCIMm=UT 3l SIdl 3, aquard YifedRila 9] SRI aaaivt



C. PIFs @1 srama#or yrer &I sufd-erfer 3 giar g
visit: www.biologyscholar.com, or contact: +91-7021673266
D. PIF 3af¥a shieil <t afiqufts geoter &t Juf¥-erfer af ordl At 3

SWRABA Dercil I FEplifded Bl AT Tb Al AAD 3?7

[Question ID = 101][Question Description = 131_553_LSCC__Q31]
1. A,BandC

A, Baer C

[Option ID = 401]
2. A,CandD

A, Caar D

[Option ID = 402]
3. A,BandD

A, Baer D

[Option ID = 403]
4, B,Cand D

B, Caen D
[Option ID = 404]

32) The phytohormones ethylene (ET), methyl jasmonate (MeJA) and salicylic acid (SA) play impertant roles in plant
defense. The following statements were made regarding induction of defensin PDF1.2 and pathogenesis related protein
PR1:

A. ET/MeJA activates PDF1.2

B. ET/MeJA activates PR-1

C. SA activates PDF1.2

D. SA activates PR-1

Which one of the following options represents the combination of correct statements ?

urcuzdiol wefiferet (ET), dtemse Siygilolc (MeJA) aen IchifRifers s@ier (SA) urcu gferen 3 saqayyt 8jfdiers sier w2 3 3wfoersr PDF1.2
den Asrstolal Adfera Qicier PR1 @ gade @ cst 3 foreet derol dome o1a:

A. ET/MeJA PDF 1.2 o1 wifdga wzar 3

B. ET/MeJA PR-1 &t afegar war 3

C. SA PDF1.2 ot afeg wear 3

D. SA PR-1 @t szt ween 3

@eloll DI PIEIRbd DBlol AT Tb AchAAD 37

[Question ID = 102][QuestionyDescription = 132_553_LSCC__Q32]
1. Aand B

Acen B

[Option D= 405]
2. Aand D

Acen D

[OptionuID = 406]
3. Buand C

B e C

[Option ID = 407]
4, Cand D

Caer D

[Option ID = 408]

33) Aresearcher has obtained an Arabidopsis mutant defective in strigolactones (SLs), a novel plant hormone. The
following statements were made regarding the mutant phenotype:

A. Shqog branthiae gt SRR SR L& SHERN BIZRt www.biologyscholar.com, or contact: +91-7021673266
B. Hyphal branching of arbuscular mycorrhizal fungi (AM-fungi) gets enhanced during colonization in the mutant plants

C. Shoot branching gets inhibited in the mutant plants



D. Germination of seeds of parasitic plant is prevented near the mutant plant
visit: www.biologyscholar.com, or contact: +91-7021673266

Which one of the following options represents the combination of correct statements ?

up oferdpdl ol A¢eNciadiorRd (SLs), T orI ureu sRilel @ fore eyt Safsiftert squi¥ad! grya gsn  squi¥acd! agmorgreul o e 3
forato1 @erol Jolte o1a:

A. Squfadf uiér 3 gRls omaet 3 gfiy graa g

B. Squf¥acd dielt & vrarqmer ArsdREsd wab (AM-fungi) o wawmdq 9mdol, forassidae (colonization) & Sierer af?fa dar 3
C. Squfyadf diell d yRle omot cfia & st 3

D. Squf¥ad! diel @ iy usildl ureu disii BT iUl 3 SIdrl 8

wereil ol foretifioa ®ia AT da JAd® 37

[Question ID = 103][Question Description = 133_553_LSCC__Q33]
1. Aand B

Acen B

[Option ID = 409]
2. Band C

B e C

[Option ID = 410]
3. BandD

B dem D

[Option ID = 411]
4. AandD

Aden D
[Option ID = 412]
34) During light reaction in photosynthesis, electron is transported._in electron transport chain (ETC) and produces ATP and
NADPH in the process. Following are certain statements‘regarding ETC during light reaction:
A. Electron from P680 moves first to quinone and then toithe pheophytin
B. P700 can receive electrons from plastocyanin
C. NADPH is produced at the end of light reaction
D. The hydrogen ions produced during light reaction gets concentrated in thylakoid lumen

Choose the correct answer from the options given below:

YDI9RIYICINUT 3 YabI9r iR @ GRIcl, scldgiol Pl Uf¥eniol sciagiol uf¥asat dq (ETC) 3 srar & aen 31 yfigan 3 ATP aemr NADPH &t
Squfe 3idl 3 fonaifra @o weel gebrol siftifepn @ dSikrel ETC @ e 3 3:

A. P680 3 scraxgfol ugdl fadoilor Uz S 3 den fibe fiswiRa uz

B. P700 yarRicriarsforet 3 sciagiol S[aul a2 ADdl &

C. NADPH yabter siftifepan @ 3ia 3 dolar &

D. yarer sifiifipem @ Sivlol SqUIfed aIsSioiol 3RIGT SciibIes  S[AMDIIDT 3 ADST Bid 3
SR Delell DI Dol AT AT ASD 37

[Question ID = 104][Question Description = 134_553_LSCC__Q34]
1. A,BandC

A, Baer C

[Option ID = 413]
2. A,BandD

A, Baer D

, E\Oizti;’%fgomﬁie Coaching of life science : visit: www.biologyscholar.com, or contact: +91-7021673266

A, Caar D



[Option ID = 415]
4. B,Cand D visit: www.biologyscholar.com, or contact: +91-7021673266

B, Caen D

[Option ID = 416]

35) Given below are various plant natural products and their basic structural unit:

List | List Il

Natural products Basic unit

A. Phenolics I. Five-carbon isoprene unit

B. Alkaloids Il. Glucose unit attached by O-B-D-glucosy! linkage
C. Terpenoids lll. Nitrogen containing

D. Cyanogenic glycoside IV. Aromatic arene ring with OH group

Which of the following options represents the correct match of natural product and the basic unit:

sifd fafdtelol Ureu Yraiere Iaurs dar 3o1dd LR IIGIHD Uhd Ygldl U 31w 3:

oxeht | oxht I

JIpfere Iaurc SITEIRYCT FH¥Toll

A. fisoliferaszt |. Ga-wordet msAIYlel vhdm

B. wemeiesa Il. O-B-D-sggapifRret &St 3 ST SIDIST ThdD)
C. eitegAa Ill. ssgIstel gaa

D. AREISIH® semgaraEs|V. OH wgs @ arer Ridifike ©RIigg dacrl

foraetifcoa @il Al fpeu YIapferas IqUIc a2 IERYA Tpd DI AP el goridr 37

[Question ID = 105][Question Description = 135_553_LSCC__Q35]
1. A-IV,B-1,C-ll,D-1l

[Option ID = 417]
2. A-lILB-NI,C-1,D-1IV

[Option ID = 418]
3. A-llbB-1,C-1vV,D-1I

[Option ID = 419]
4. A-IV,B-1Il,C-1,D-1I

[Option ID = 420]
36) The mechanisms of thermogenesis in brown adipose tissue (BAT) in cold are described in the following proposed
statements:
A. A thermogenic uncoupling protein, UCP1 helps in the heat production in BAT
B. Norepinephrine secretion from, sympathetic nerve endings in BAT is decreased
C. Lipolysis is increased by,low level of norepinephrine in BAT
D. A high content of mitochondria in BAT helps in the oxidation of fatty acids
E. Oxidation produces much heat as ATP synthase activity is low

Which one of the following options represents the combination of correct statements ?

35® @, 93 @1 Sacd (BAT) 3 Spisauice @ orifaft o forretifea geyaifaa sl er1 aftfa e sk

A. v Sydiquice fagepiet gidier, UCP1 BAT & Sygn Sauice 3 JAsRIAT Bl &

B. BAT & 13mmya 3lol arct il dfefenr 3 sifzeltelfther @1 Javl o al Siar 3
C. BAT Ji sifieuftolfiger @ fowfet AR A aRII-3IUEHCH d6 STl &

D. BAT 3 JqeoiOrmt bt Sea Hzn/dAg aRikRI 3eyer @ sifazfiazor 3 HBRICAT BT
E. apiifec ATP Horciuvr yfegan fororar 3 sifafiazvr sifere ara Iquelsl odr &
foreiifepa wiot AT wp et AL 37

: Quesfig)r( Brll%%ﬁ:&?e%g'onn (gulrfigt]séﬂe:nf:ﬁ _ e@ﬁg&tz&giogysoholar.com, or contact: +91-7021673266
1. A,BandC
A, B er C



5. L?F,;ti::dlz - visit: www.biologyscholar.com, or contact: +91-7021673266

A, DaerE

[Option ID = 422]
3. B,CandD

B, Caen D

[Option ID = 423]
4, B,DandE

B, D aen E
[Option ID = 424]

37) The pressure in the ‘space’ between lungs and chest wall is known as intrapleural pressure. The following statements

are related to the intrapleural pressure at different phases of respiration:

A. At the end of quiet expiration the tendency of the lung to recoil from chest wall is balanced by the recoil of chestiywalliin
opposite direction, and intrapleural pressure is subatmospheric.

B. At the start of inspiration the intrapleural pressure is subatmospheric.

C. The intrapleural pressure becomes more negative during inspiration.

D. The intrapleural pressure attains value above atmospheric pressure during expiration.

E. The intrapleural pressure becomes positive (relative to atmospheric pressure) during strong inspiratory efforts.

Which one of the following combinations is correct ?

BUEA/ GBS der ag1/sidl fifer & d ‘siarier’ 3 cara @1 sia: GUGATGRY gara wed 3 folder welel 9ol @ fafiioet @RvIl UR sie:
BUEATRYIl carg @ e 3 3

A .quf foroaster @ 3id 3 | @I agl fifer A gfaga &I ggf o1 Jqere agr Bift o fadia on # gfergiar A alar 3, qen 3ia: grgAraeil
GaId IUARIHASCTI Il &

B. for: orariol @ 3R ¥ 3id: EURATGRUIl ga/d SudRgScilRI Bldr 3
C. for: 9[atol & SRRret 3ic: GUEATARvfl Gard 3iferd SBUIIP 3l SIIel @
D. for: oratet @ Slarel sich: GUEATGRUfl Cara &l Al argFscil Sl 321 3 Sirar 3
E. gae for: ofa=tell Yader @ Siol 3id: GUEATaRvil cara eoliquid (arggisciiRn cara 3 ddeR) 3t srar &
forapatifepa wiot AT v At Ak 3?7
[Question ID = 107][Question Description = 137_553 LSCC__Q37]
1. A,BandC
A, Baer C
[Option ID = 425]
2. B,CandD
B, Caenr D
[Option ID = 426]
3. ¢(,DandE
C,DaerE
[Option ID&427]
4, A,CandD
A, C asi D

[Option™iD, = 428]

38) Hemoglobin (Hb) transports CO; in venous blood as carbamates. The following statements
refer to the formation of these carbamates:

A. COj; interacts with amino terminal nitrogens of Hb polypeptide chains

B. CO; interacts with carboxyl terminal carbons of Hb polypeptide chains

C. Carbamates helps formation of salt bridges between o and p chains of Hb

D. Carbamates helps formation of disulfide bridges between a and p chains of Hb

For Online Coaching of life science : visit: www.biologyscholar.com, or contact: +91-7021673266
Which one of the following options is a combination of correct statements ?



g (Hb) BRI Y@ H O, @ URded @EHSH & ol [
freifd ai'qil’ 3—3[ ﬁﬁﬁ%ﬂtm{)&fﬂl%ﬁ%&%com, or contact: +9317_-{§02%1 673266

A.co, Hb UIIIUETSS 4Earai & THAT R Argeiorl § SUafhdl 3 |
B.co, Hb UTIUEISS @3l & Hraic R Sl § SUIHa B

C. BIEHTH Hb B o TUT g YRaa3l & g TqUr-Uq §94 & YgRIdl $3d B

D. BIEMHEH Hb & o YT pgEdH & did SEUcPhISs YU 8- § Yghd &ld 8|
frifeRd B 91 U fawey Hdie Syl &1 9 82
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[Question ID = 108][Question Description = 138_553_LSCC__Q38]
1. Aand C

Aden C

[Option ID = 429]
2. BandD

B cemr D

[Option ID = 430]
3. BandC

B e C

[Option ID = 431]
4. AandD

Aqer D

[Option ID = 432]

39) Following statements are given for the ovarian hormones:

A. 17 B -estradiol, estrone and estriol are naturally occurring estrogens

B. They are 18 C steroids which do not have methyl group at 10th"positions
C. They are 21 C steroids which have methyl group at 10th _position

D. They are primarily synthesized by granulosa cellsfof the ovarian follicles
E. Their biosynthesis does not depend on the enzyme aromatase

Which one of the following options represents the combination of correct statements ?

foreifcra @ @l SR srEilell @ fore fGu a1 3:

A. 17 p -wgif3er, egror @@l QREENCP IRl url il arct eglsiol 3

B. a 18 C 23S 3 Broid 10t ellotl uz Aerrser Ags oIl A 3

C. a 21 C 333 3 Riotd, 10" Herell uz Aenser wge B 3

D. 3 gziarRn IR yfewsii & wRpER (granulosa) wIfdrmiail 3 et axd 3
E. SoIoIa@iaiQIton dA3esT Uolrsd Uz forslz ordl drar 3

e, BT foleliftbd Dlol AT T el AP 37

[Question ID = 109][Question Description = 139_553_LSCC__Q39]
1. A,BandC

A, Baer C

[Option ID = 433]
2. A,BandD

A, Baer D

[Option ID = 434]
3. B,CandD

B, C gen D . . . . . .
o0 EegerOﬂls?e Coaching of life science : visit: www.biologyscholar.com, or contact: +91-7021673266
ption ID =
4, C,DandE

C,DaemE



[Option ID = 436]

visit: www.biologyscholar.com, or contact: +91-7021673266

40) Below are given a set of statements for the glucocorticoid hormones:

A. They bind to cell surface receptors and influence stress adaptation

B. They bind to intracellular receptors and influence stress adaptation

C. They inhibit ACTH secretion from anterior pituitary

D. Prolonged treatment with glucocorticoids leads to atrophic and unresponsive adrenals

E. Their secretion does not show circadian variations

Which one of the following combination of the statements is correct?

il Deoll DI TP WP IIDIDIEDITS sliloll B Hder I &1 srm 3:

A.Q Difdr1 gyg Ipfdel A derd 3 a1 dolid sreldyeiol Bl YIfdd o 3

B. a sia:ifdrmr spfdil A derd 3 den doid steldyctel I gIfad o 3

C. q 3 drRafrest 2 ACTH @& ravr ol sraRlfera w8

D. sgmImiiémius A Simiciiol 3uar/ yenerst gfivr aar sigfafpnfic sif2rgamm o1 PR® dold 3
E .3otep1 3yravt farilr orr (circadian) fafeeramd oiél gorfar 3

eIl DI foretifcsd diol AT b AT ASD 37

1.

[Question ID = 110][Question Description = 140_553_LSCC__Q40]

A, Cand E
A, CaenE
[Option ID = 437]

2. B,CandD

B, Caen D

[Option ID = 438]

3. (,Dand E

C,DaemE
[Option ID = 439]

4. A,DandE

A, D aern E
[Option ID = 440]

41) The pedigree given below represents the genotype at four different loci for the children in

generation lII.

Al a2
B'||B!
c)|ce
o' |D

A | A2 Al
B ||B’ B!
c||ce c?
D2 | |D D’

Which one of the given genotypes is likely to represent the genotype of individual 11-17

= U demraeh g i it ® sl adafaal & g TR e el W Sfiamey &t g2id 81
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Bl B

cjer ¢
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c? c? c
o o =3

FAETiTRT I &1 U S9eT §9aaar 24 [1-1 & Sa9eq ®i Jafdfd FLarg?

[Question ID = 111][Question Description = 141_553_LSCC__Q41]

AZ] 1AZ
1 . Bl B'l
o il [
DY ot

[Option

ID = 441]

Al |A?
B 32
crc
D |o?

[Option

ID = 442]

Al | A2

Bl |B
aljc

o' | D?

[Option

ID = 443]

ﬁl Al
B! | g?
crHc
DY |o*

[Option

ID = 444]

42) A Drosophila mutant (line A) with vestigial wings is isolated"in a laboratory. The vestigial wing phenotype was observed
to be recessive and mapped to gene ‘X’. Three other laboratoriesalso isolated vestigial mutants, called line B, C and D. In
order to test if the mutation in lines B-D also mapped.te gene“X’, the following crosses were made and phenotype of F1
progeny observed.

Cross F1 progeny (wing morphology)
AXB Vestigial

AXC Vestigial

A XD Normal

B X C Vestigial

B XD Normal

CXD Normal

Based on the aboye ‘identify the line(s) which is most likely NOT to have a mutation in gene ‘X’.

3afdrye (vestigial) dwl arcr v Iqui¥afdda glalfisen (fop=ypt A) @1 v gleronen 3 germamd s SR 3afdnye U cgvgeu ol rgerdt
ORI 3R a2 Sflol ‘X’ Uz AEIRIf g3m «lel g1R gRieroneu sii s@fdrye Ul arcl Squivafddl ol geramapa 1, aer few B, C aar D St
sHifdpa e $A®BT Ulerur w2l & ferw fop fopgal B-D st Shter ‘X’ ur smaififea a1 3, forer yrics=vl @2t srY aen F1 Jaferil & asmgzeu

[R50

gRipor  |F1 dafer (dei 6 siapfer)
AXB brafdnge

AXC prafdrge

AXD  [AEImeR

BXC prafdme

BXD e

CXD FoFﬁwﬁne Coaching ofy life science : visit: www.biologyscholar.com, or contact: +91-7021673266
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JWRIGA D AR U= 3A fpe1/[pgil &I usdre @2 SR Sfier ‘X’ 3 Iqui¥ada orél dlor bl siaoen Rl 3iférd 3

[Question ID = 112][Question Description = 142_553_LSCC__Q42]
1. Both lines B and C

Qo fap3pt B aem C

[Option ID = 445]
2. Line C only

Dact fppr C

[Option ID = 446]
3. Line D only

et Rt D

[Option ID = 447]
4. Both lines B and D

cloll fdppt B arem D
[Option ID = 448]

43) 22 transduction was used to map the fadL gene. The result of two-factor crosses between fadL and gwo linked
markers, purF and aroC are shown below.

Recombinants
Donor Recipient Numbers obtained
Selected marker [Second marker
fadL 200
fadL purF+ |fadL+ purF  |purF+
fadL+ 800
fadL aroC+ [fadL+ aroC aroC+ fadL 400
fadL+ 600
aroC+ purF |aroC purF+  |aroC+ purF 500
purF+ 500

Which one of the following is the correct map for the"three genes?

fadL Shet @t arcififa wor @ fore P22 urayaur &1 3uzial fosa sk fadl aen < Ascele Riolgd> purF aem aroC @ dia fg-aca yidmvil
T ufevmer ofld 3w sk 3

goreiterst _
i T e ol o]
fadL 200
fadL purF+fadL+ purFpurE+
fadL+ 800
fadL aroC+|fadL+ areC aroC+ fadL 400
fadL+ 600
aroC+ purFlareC purF+aroC+ purF 500
purF+ 500

foretifcpa adiotr A1 v farpeu ot Sfieil @1 At AL 37

[Question ID = 113][Question Description = 143_553_LSCC__Q43]

aro C iu-r F ,I-aa L

1. > & >
> € >
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[Option ID = 449]

Jl‘ud L i:lro c i,w F
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[Option ID = 450]
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[Option ID = 451]

{adl aro € i;urF

4. £ > £ —»

= 60% 50% S
< — >

[Option ID = 452]

44) Wheat plants can have kernels of white colour or in shades of red i.e. light red, red, dark red and very dark red
(purple).
A researcher made the following cross:

P wheat plants with white kernels  Xwheat plants with purple (very dark red) kernels
F1All plants with red kernels
F21/16 Plants with purple kernels

4/16 Plants with dark red kernels

6/16 Plants with red kernels

4/16 Plants with light red kernels

1/16 Plants with white kernels

The following conclusions are made from the results obtained:
A. It is a dihybrid cross where white colour is coded by gene A and the purple colour is coded by gene B

B. Two genes, both coding for the colour of kernel and each gene having two alleless'one that produced red pigment and
the other that produced no pigment.

C. Four genes, one coding for no pigment, which is epistatic over the other genes. The remaining three genes have 2
alleles each, one that produced red pigment and the other that,produced.mno pigment.

D. The trait is influenced by the environment leading to thetobserved variation in kernel colour.

Which of the above conclusion(s) is/are correct?

3ig o ulell 3 AAwe o1 b sifte (kernels) = crer 31t @ufafder gk SiA 36 acyapT cret, e, MG eIl eIl 98 NGl cliel (Sgolt) 391l bt
3ifSe=ni 8l ADd & Up ANermdl of forel Yiaul fpu:

P 1w sifcl arel 318 @ UIAXSIell (S8 amGT 3901) Dsiftel arcl 318 @ uld)
F 121sft aleY cirer sifte=a) arax
Fo1/16 STagofl sifSc=il arer uid

4/16 STIGL-elIcT 3ifScaal arcr aiéx

6/16 eIl siftcl arer aidY

4/16 [&CTeDT clret 3ifte=al arct uiex

1/16 _Ibg 3ffel arer die)

grua ufuieil A forege forgasd dete 1o :

A. gD (53D RITGI 16l AWS 3T DI deol Sflol A A AT SIFGH 39T I @l Sitel B A dlar 3

Byl Siicl, <ol siftcail @ 391 T docel B2 W & A YD Silol @ gt JeAfdmedi= 3, Iotdl A U oIt 35D IAUISA B 3 T GIRI B off
35T IquIfed ofdl e &

C. ar Sfiel, v fpfl sft 31 @1 Dol ordl B &, Si 5 e Shioll & Su= yaer 3 ardbl diar Shtell 3 YR @ urRt 2 Jopifadmadi 3, v
i fop et 351 IqUIfed ddr & de ¢RI Sl 16 3ot Squifed oY e &

D. fafdryear arara 2o1 A Yenfaa 3 sit b siftczil @ il 3 32 sR) fAfSrororarsii wf Iquolol war &

SR ®lol Al forgml/ forgmtt wéied 3?7

[Question ID = 114][Question Description = 144_553_LSCC__Q44]

1. Aonly
saamor Online Coaching of life science : visit: www.biologyscholar.com, or contact: +91-7021673266
[Option ID = 453]

2. Bonly



Dact B
[Option ID = 454] visit: www.biologyscholar.com, or contact: +91-7021673266
3. Conly

@daet C

[Option ID = 455]
4. Cand D only

Dact C aer D
[Option ID = 456]

45) A group of transposable elements described as ‘retroelements’ encompass
uRiaRuiRI aqdl @ ue gof @I ‘ugadadad’ (retroelements) @ St afdfa e siran 3, Jordt onfdrer 31 AAdd 3:

[Question ID = 115][Question Description = 145_553_LSCC__Q45]
1. P elements in Drosophila; LINES but not SINES in humans

glRiftberr 3 P aad; swordl 9t LINES u3g SINES o8t

[Option ID = 457]
2. Copia element in Drosophila; SINES but not LINES in humans

SlRAftberr 3 PR dqaa; ol 3 SINES wg LINES orét

[Option ID = 458]
3. Copia element in Drosophila; LINES as well as SINES in human

SRAfberr 3 PR ada; ol af LINES qerr 2mer &t 2mer SINES sft

[Option ID = 459]
4. P elements in Drosophila; LINES as well as SINES in human

gRiftberr 31 P aad; smerdi 9t LINES aerr 3mer & 2mer SINES sft
[Option ID = 460]

46) Given below are two columns listing angiosperm families and theirgroups

List | List Il
Group Family
A. Basal angiosperms I. Brassicaceae
B. Fabids Il. Cucurbitaceae
C. Malvids lll. Solanaceae
D. Lamids IV. Nympheaceae

Which one of the following option represents thexcorrectsmatch of the two columns ?

il fu sRI S @rcrt ngadisll weil e Jord aolf bl IFdlag B &

Rreht | Rxeht 1

ot BT

A. smrermd sngadisikil. iideft
B. wfarga 1. azfaeil
C. arerdisa 111, 2Arctoreft
D. dfdrsar 1V. ferfdwudl

foretifcpa wisl ANTD fadcd I DIctdHl DI AkD et goridr 3 ?

[QuestiontD = 116][Question Description = 146_553_LSCC__Q46]
1. A=V, B-1I,C-1,D-1l

[Option ID'= 461]
2. AW, B-1,C-1IL,D -1l

[Option ID = 462]
3. A-1ILB-IV,C-1I,D-1

[Option ID = 463]
4. A-1,B-1I,C-1,D-1IV

[Option ID = 464]

47) Given below are the names of diseases caused in rice in Column X and the names of the disease-causing organisms in
Column'Y.

ine-CS8UAIAY of life science-—visit-www.biologyscholar.com, or contact: +91-7021673266

B3 Online CSAXAIRG
l

IA. Bacterial blight |[I. Entyloma oryzae
B. Grain rot Il. Rhizoctonia solani
C. Sheath blight Ill. Xanthomonas oryzae pv. oryzae|




D. Leaf smut IV. Sclerophthora macrospora

E. Downy mildew V. BurRhollieWavdlchigiogyscholar.com, or contact: +91-7021673266

Which one of the following options represents the match of column Xand Y ?

Sii<I &ITel (Tardet) 31 Slol arcl o8 dIARKRII (JF1T) @ ol ®Icid X I T APT-PR® Sildl @ ol DI Y 3 G oRr &

et X retH Y
A. Stiaifdad et
(Bacterial blight)
B. gronr faeretat (Grain rot)|ll. rssiifdeforn Aletrodl
C. E®c 3PTART

Ill. Sierenatomt .
(Sheath blight) % etz pV. st
D. uvi @3 (Leaf smut) |IV. Jablaigenet d@RRT
E. aggﬁﬁla.aﬂﬁ;m V. .
(Downy mildew) R ha
foretifcpa ®iol 1 vep fpeu oredt X aen oA Y o1 A8l da corfar 3?7

|. gorersetian siRIssIT

[Question ID = 117][Question Description = 147_553_LSCC__Q47]
1. A-Il,B-1,C-V,D-1IV,E-1l

[Option ID = 465]
2. A-lILB-IV,C-1I,D-V, E-I

[Option ID = 466]
3. A-IV,B-lllLC-I,D-1l,E-V

[Option ID = 467]
4, A-1,B-V,C-1,D-1,E-IV

[Option ID = 468]

48) The table given below lists the conservation areas and the major. group of organisms that they are best known for.

Column X Column Y
Conservation areas Organisms
A. Hemis National Park I. Orchids
B. National Chambal Sanctuary |[ll. Gharial
C. Nokrek National Park lll. Nepenthes
D. Sessa Sanctuary IV. Snow legpard
E. Baghmara wildlife sanctuary V. Endemic'citrus species|

Which one of the following options represents the correct match of column X and Y

foraetifcpa il RS SIqil oI dur Siidl @ ygd APe DI PRID 610 d JIRIRI Siiol I 3, oIl G DIl 3

rctat X @IcTaL Y-

Raef3re i ot

A. 3RrRT A Jeme |, 3nfeps

B .2l aereet sRRuRr Il afdarer

C. Slip¥D AYLRI eiol lll. aeuit

D. J=T 3RIRURT IV. 8 dgan

E .arasiRI desild BRIRURIV. Fenfora Ricer ysnferi

forgetiftod @iot A1 fwcu @ica X @1 @icia Y & A1 Adk® Aa gorfar 3?7

[Question ID = 118][Question Description = 148_553_LSCC__Q48]
1. A-I,B-Il,C-Ul,D-IV,E-V

[Option ID = 469]

2. A-IV,B-Il,C-V,D-1,E-1Il
[Option ID = 470]

3. A-lll,B-I,C-V,D-1Il,E-IV

[Option ID = 471]
4. A-V,B-IV,C-1lll,D-II,E-I
[Option ID = 472]
For Online Coaching of life science : visit: www.biologyscholar.com, or contact: +91-7021673266
49) The table given below lists the morphological features and groups of plants.
| List | | List Il |




Plant group Morphological characters

Visit WWiK; PIRIRGFERIar-com, or contact: +91-7021673266

A. Liverwort

Il. Multicellular rhizoids
I1l. Presence of pyrenoids
B. Moss IV. Stomata on sporophyte|
V. Dominant gametophyte|

Which one of the followings options represents the correct match between the two columns?

foraratifena ARl SR dfdrgedare dur ulel @ gelf &l Il Yaral w2 &

x| gl

areu st SIPRIPD  ATICATS

A. Rraraé ||, cramifordb Jermemt

1. SEpIfdrblT Jerri

Ill. urBIoIRISI &bt 3uf¥efer

B. 3ifer IV. disiul-3fgc ur 3¢ (Stomata)
V. goirdt goraifsg

foREtificd wiol AT U fawcu Cloll wicwEll & dfa @1 A A gorfar 3 ?

[Question ID = 119][Question Description = 149_553_LSCC__Q49]

A-I,lllandV; B -1, lll, and V [Option ID = 473]
A-1I,llland IV; B - Il and IV [Option ID = 474]
A-lland V; B -l and Ill [Option ID = 475]
A-landV; B-Il, IV, and V [Option ID = 476]

A WN -

50) The table given below lists types of extremophiles and the environments that they are adapted to.

List | List Il
Type of extremophile Environment
A. Psychrophile I. High salinity
B. Hyperthermophile Il. High pressure
C. Alkaliphile lll. High alkaline environment
D. Hyperpiezophile IV. Extreme high temperature
E. Halophile V. Extremecolditemperatures|

Which one of the following options represents the correct match of‘the columns?

forrotifepa 3t arat iR (extremophiles) & yosR denr arararvr forerdl d sroaferd 3, Jordbl il yerol w2ar 3

Rreht | oreht

291 ABRI & YbR  Ardraor

A. ATHIGIST |. 3qa  craurar

B. srsuzediieser (Il 3@ g

(ORer o arei U p E1e2 lll. S g ardrea=or
D. srurussiGEeA (V. Rt Saa araargr
E. 3clibrscaa V. siqifire @a  argsrgy

foraetifdea wiet A1 GBI Drcal & Ak Ja @1 gorfar 3 ?

[Question ID,=*4,20][Question Description = 150_553_LSCC__Q50]
1. A- 1,8 -MC-1I,D-IV,E-V

[Optien'ID = 477]
20A -, B=N,C-1lI,D-1IV,E-I

[Option ID = 478]
3. A-V,B-IV,C-1lll,D-1I,E-1

[Option ID = 479]
4. A-V,B-1l,C-IV,D-1Il,E-I

[Option ID = 480]

51) The table given below lists fossils and the major group of plants to which they belong.

D. Tricolpites minutus IV. Bryophyte

List | List Il
Fossil Plant group
A. Nafoditalanseo@émching of{ifiesBEIE® | visit: www.biologyscholar.com, or contact: +91-7021673266
B. Rhynia gwyne-vaughanii Il. Pteridophyte
C. Antarticycas schopfii Ill. Bryophyte



Whcih one of the following options represents the correct match between columns_?
visit: www.biologyscholar.com, or contact: +91-7021673266

forpeiifepa vl Sfiarepil aen diell @ yga ael el d weElsed 3, Iorbl il yerol @ 3

x| gl
shareEr area oot

A. orrfenfyar dilRriemar ||, sngadisi
B. rofien sparsofi-amsameiill. 2fesierser
C. gocrféarsma At [lll. grRiwEer

D. grsolaquica sz [IV. songadisi
forarotifeoa dlol 21 vep faeu oIcwll & dla & Iéd Aa B goriar 3 ?

[Question ID = 121][Question Description = 151_553_LSCC__Q51]
1. A-1,B-lll,C-1V,D -1l

[Option ID = 481]
2. A-NILB-ILC-1V,D -1

[Option ID = 482]
3. A-I,B-ll, C-1IV,D- 1l

[Option ID = 483]
4. A-1,B-l,C-1,D-1IV

[Option ID = 484]

52) The tables below show the bird species and their abundance in three habitats P, Qhand'R.

Habitat P Habitat Q Habitat R
isdi?;;fys Abundance isdpfncili:ys Abundance if:r;;:; Abundance
1 120 1 20 1 80
2 20 2 20 2 25
3 5 3 20 3 15
4 1 4 20 4 10
5 1 5 20 5 A
6 15 6 3
7 15 7 3
8 15 8 3

Which one of the combinations below bestwgeprgsents the habitats in decreasing order of
diversity?

fmifea aRofiat ofért @1 uarfaal fpeeies) 7T TafarT (habitats) P, Q, T4 R § 3-ds TRl
@I G B

Habitat P ! Habitat Q Habitat R
iS di?ﬁi{:ys Abundance ?tf:n?i:; Abundance if:rf;?: Abundance
1 420 1 20 1 80
2 20 2 20 2 26
3 5 3 20 3 15
4 1 4 20 4 10
5 1 5 20 5 5
6 15 6 3
T 15 7 3
8 15 8 3

Feified @19 o1 oe Ad vaiard ®f 9ed gu ffaudr & %9 & gdiaqueRr ¥ cfare ?

[Question ID = 122][Question Description = 152_553_LSCC__Q52]
1. P,R, Q

[Option ID = 485]
2. R,Q,P

[Option ID = 486]
3. R,P,Q
[Option ID = 487]
4. Q RFRr Online Coaching of life science : visit: www.biologyscholar.com, or contact: +91-7021673266
[Option ID = 488]



53) The following are a few statements on shade leaves vis-a-vis sun leaves in tree species
visit: www.biologyscholar.com, or contact: +91-7021673266

A. Higher amount of chlorophyll per dry weight

B. Lower density of stomata

C. Thicker leaves

D. Lower rates of dark respiration per unit area

Which one of the following combinations of above statements is correct?
ool e Pl ureu yenferil # 8ia @ udqdl (shade leaves) o gu @ udgl (sun leaves) @ Jolgei A 3

A. yfer 9y iR uvishia &l siftre agp

B. a1gfi (stomata) @1 @t Horaa

C. geloliqgied A& uferri

D. yfer oo 81 3 YDID 9[aRIel DI DA G2
FURID el DI Rrplisa ol 1 T el A8D 3 ?

L 4
[Question ID = 123][Question Description = 153_553_LSCC__Q53]

1. Aand D E
Aden D

[Option ID = 489] V
2. Band C O

B aem C

[Option ID = 490]
3. A,BandD

A, B @en D

[Option ID = 491]
4, Band D

B dem D

[Option ID = 492]

n a single trophic level, where I=amount

54) The diagram below depicts energy flg @

ingested, NA= amount not assimilated, pespiration, and Pn= biomass production at
trophic level. "V
P O

Mot consumed
pﬂ—i

|

hich one of the following options represents correct values for Pn, NA, R and | in kcal
respectively, if Pn-1 =1000 kcal, I/ Pn-1 = 20%, A/l = 35% and Pn/A= 20%?

fraifed 3ME te ted Ul TR J 391 & Udlg &l GUIdl 5, 98l 1 |=3dygll &1 AMET,
NA= Taiifigrd T2t fU T8 @ T3], R=RGTH, Y1 P,= U TR | SgHR JdEA|

P
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|

fifed @19 W1 U fAded HH: P, NA, R TUT | B kecal H 9@ AF 201l 8, dfc P,
=1000 kcal, I/ Pp.1 = 20%, A/l = 35% TUT P, /A= 20% & ?

[Question ID = 124][Question Description = 154_553_LSCC__Q54]
1. 56 14 130 200

[Option ID = 493]
2. 14 130 56 200

[Option ID = 494]
3.200 130 56 14

[Option ID = 495]
4. 56 130 200 14

[Option ID = 496] O

55) The following graph shows the change in proportion of biomass in foliage (leaves), branch
and stemwood (bole) for a tree species as a function of DBH (diameter at 1.5 m above

ground) ¢
0.8
a A
fi
_g_ 0.6
Rl
)
2 o4
5
S .ll€
£e .
=] e
£ 1o
0O 10 20 30 40 50 60
DBH

stemwood, foliage and branch, respectively?

Which one of the following options correctly matcxs the )INES (A, B, and C) with

5 m Joadl T 9) & U@ Had o4l

frifd 3RE TP g8 Yeilid & féT DB :
% 3urd & uftad @i g |

yofogg (afd), Ul 9yl aETs

06 \

0.4

0.2

Proportion of total biomass

30 40 50 60
DBH

T U@ 9w 3@l (A, B, 9UT C) DI HAR: TIPS, GoREE U1 @ & WY
Y A o g 7

[Question ID = 125][Question Description = 155_553_LSCC__Q55]
1. A,Band C

A, Baer C

[Option ID = 497]
2. A,CandB

A, Caer B

[Option ID = 498]
3. B,Cand A

B, ck@n Online Coaching of life science : visit: www.biologyscholar.com, or contact: +91-7021673266

[Option ID = 499]
4, B,Aand C



B, Aqer C

[Option ID = 500] visit: www.biologyscholar.com, or contact: +91-7021673266

56) The graphs given below show the possible behavior of two species over the course of

succession.
A B ¢
| | [| omreneee
L e wr wi ‘,/
] ’ m a8
S £ £ |
2 ? e a |
ol o =
: D [

Time — Time —»

Possible effects observed during succession are:
i. Total suppression
ii. Convergence
iii. Sequential succession

Choaose the correct option matching the graphs with the possible effect:

2 va for T S o venfaal & S HT 31 UlhaT & SR YYIfad SIdeR ®f Giialed

Biomass —» >
4
1
1
]
Biomass —s &
Biomass m— )

—_— Time —s .
Time Time —s

AV B GRIF SHdailidd [bY T HHIGd UHTd &:

i. gu 3arleA

i, SAFHER

iii. D STHAT

HRE 7T WUITad TUTE & T2 Gaict ! GRIT- ardl faded @1 91d & |

[Question ID = 126][Question Description = 156_553_LSCC__Q56]
1. A-(i) B-(ii) C-(iii)

[Option ID = 501]
2. A-(if) B-(ifi) C-(i)

[Option ID = 502]
3. A-(iii)  B-(ii) "\.C-(i)

[Option ID = 503]
4. A-(iii) B-() C-(ii)

[Option D = 504]

57) E8nsider the following graphs for per capita growth rate G) (%) as a function of

population density (N).

(A (@

Per capita growth rate
Per capita growth rate

For Onmﬁ@mhing of life sérefhus &vigit: www.biologyscholar.com, or contact: +91-7021673266

| (8) (o)

AN

h rate
h rate



Per capita growtl

wsit:

w.bi

gyscholar.com, or contact: +91-7021673266

Population density
()

Population density
()]

Which one of the plots correctly depicts strong Allee effect in a population?

Feifed ol @1 a1 uid oafdd afg & ( )(ﬂ) SUE 9@ (N) & UP B o9, d

e B @

1
N dt

& (A i (Q
3 3
= =
H H
El E
- -
- -3
2 2
& &
Population density Population density
() (1)
(B) (1))
= =
: :
= =
H H
] &
= =
] 2
a a
Population density Population density

(n

(ny

B WIS HNE T S9= H Fac Uell (Allee ) GHTE HNGIhd O c2idl & 2

[Question ID = 127][Question Description = 157_553_LSCC™Q57]

1. A

[Option ID = 505]
2. B

[Option ID = 506]
3. C

[Option ID = 507]
4. D

[Option ID = 508]

58) In the Table below, Columnd describes movements of organisms and Column Il describes the type of movement.

Column | Column Il

A. A silk moth flies at an“angle perpendicular to the direction of the wind to pick up a scent trail |I. Mnemotaxis
B. Bacteria,burrow down into mud in the northern hemisphere in response to the earth’s magnetic field Il. Klinotaxis

C. A girl reaches her school using a pharmacy and a bookshop as landmarks I1l. Magnetotaxis|

around it

D. Planariasmove towards the direction of higher concentration of food by comparing the gradient of stimuli

IV. Menotaxis

Which one’of the following options represents the correct match of column | with Column Il

forgetifepa it &, rera | sitdal & acrar/s1feifafe aen orert 1l actor/sifeifafér & yor ot aftfa oar

pIctd | retd |

A .TD 3To[El cIbR I HIsiol/Udsol @ fe1e uep 39 i sar bl a1fer bl feon D uep sifércrog PIvT U Isar & ||. Jy@ferets
B. gerdl & garadi &iq @ yferfepn 3 3l siicrg 3 sitamy bias 3 okl Br srar 3 Il. gautiolerctol
C. g SiiuecRI el U YRAcadl bl gmlel Pl ciiioEl @ SIAT YRIPT B3> §d difcrad! 3idel urserrenr ugadi 8 ||l gadbirecioy|
D. ygioif¥ar sl arl e IGAu! I gaviar Bl getolr B sisiol D ARID Alolgel Bt 312 I 3 IV. sioroarco |

g S TThE T B IR DTS h & TR AV Biologyscholar.com, or contact: +91-7021673266

[Question ID = 128][Question Description = 158_553_LSCC__Q58]



1. A-IV,B-1ll,C-1,D-1l
[Option ID = 509] visit: www.biologyscholar.com, or contact: +91-7021673266
2. A-IV,B-UI,C-1l,D-1I

[Option ID = 510]
3. A-1,B-1l,C-1V,D-Il

[Option ID = 511]
4. A-1,B-1I,C-1I,D-1IV
[Option ID = 512]
59) The following represents an equation for Bayesian statistics:

P(H) P(E[H)

P(H|E) =
P (E)

Which one of the following options correctly represents A, B, C and D in the jBaye
equation?
frifesd sy Siferet & T GHieR S i &:

, |

P(H) P(E[H)

P(H|E) =
é P (E)
f=ifed @1 T te fAeey Siga Tfi@o 4 A 8, c U1 D &1 Séiddl 4§ ufaffia axar e

[Question ID = 129][Question Description = 159_553_LSCC__Q59]
1. A-Evidence, B-Posterior probability, €-Likeliheod, D-Prior probability
A-ygmr, B-uem gilRrvar, C-ismgeiar, D=gd yikioar
[Option ID = 513]
2. A- Likelihood, B-Prior probability, C-Posterior probability, D-Evidence
A- iorrqRre, B- ydgiRiar, C= wem yiRrdr, D- ggmor
[Option ID= 514)
3. A-Posteriorprobability, B-Prior probability, C-Likelihood, D-Evidence
A- uora iR, \B- gyd giRear, C- dsrraRrar, D- gemor
[OptionylD = 515]
4. “APrior probability, B-Evidence, C-Posterior probability, D-Likelihood
A- gd yiRrepar, B-ysmur, C- uem giRradr, D- Jfsmmaziar
[Option ID = 516]

60) In a population that is in Hardy-Weinberg equilibrium, the frequency of the recessive homozygote genotype of trait q is
0.04. The percentage of individuals homozygous for the dominant allele is

U STolRIERN 3 Sit 15 3If3-forast AR en 3 8, cievr q oI gl JRIPREE Sfleigzeu &t sigf 0.04 3 qrift:il o1 yferera sit o5 gormcht
orAfd@medl @ fere WIRPEEH 8, dlen

[Question ID = 130][Question Description = 160_553_LSCC__Q60]
64 [Option ID = 517]

‘3‘2 Eéﬁ??%ﬁ?}%}Coaching of life science : visit: www.biologyscholar.com, or contact: +91-7021673266
. ption ID =

16 [Option ID = 520]

AW N =



61) A researcher is interested in investigating if parental investment (P,

1.

anel Al by_male

seahorses and pipefisHé%ltfs%WéBQg) %&ngﬁr'gﬁgm’gofggt%}%c}ﬂPgr;|167r1%ggné':zsazréie
polygamy, panel B). For this, the researcher builds a phylogenetic tree of seahorses and

pipefishes and maps Pl and MP scores on to the tree as shown in figure below.

®

Pl measured as brood pouch
development
—— 5 Ekborate

b

PR T -

meeee €3 Simiple ﬁ;‘ L
- h""v

S

— Monogamy
— Polygamy

Based on the trees generated, which one of the following conclusions can the researcher

correctly arrive at?

TS UGl 30 9ol BT TIET B & ol IodTel § o ol X SGHA! aul

999 (p1, U9 A) 370 T WEU! (MP-THTETHH TUT 937, 094 B)
2 oUWyl A =RaHH 9U1 TaHH! & U Sfagaiig g8 &1 o f

el ol Fifded oA ® a=iid T g8 )R i Rifd faean %
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e
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I
T foe T g8 & emuR W FE
&l a7

[Question ID = 131][Question
Polygamy is correlated with

qgeIol, AT IUT DIYSI e

[Option ID = 521] L 4

2219

=

00d pouches.

$ pY R Wyddl Jeuesdl 9§ Ugd

=161_553_LSCC__Q61]

2. Monogamy is nog,correla ith elaborate brood pouches.

1 ABAAG oldl &

TEOWIT, SHOCT VT DBIGI D AT AGWES &

[Option ID = 524]

. Polygamy is correlated with elaborate brood pouches.

62) Given below are graphs depicting two possible dynamics of gene duplication events over a

period of time during genome evolution.

D)

f pairs of dupl/@ed genes
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Time since duplication event Time since duplication event

Number o

Based on the above figures, which one of the following options correctly represents the
identity of A, B, C and D?

Yol D - AP & GRA Ud THY 3= & JUI wiF Sfdia ge-isi & ol
Huifad @t & Fifed smeal § gufa gl

—® L
<

Tima since duplication event Time since duplicaton ewent

SWiad a3l & YR R, F=ifed ®F 91 U6 [ddad A, 8, C 9UT D 3 UgdH & wlaHfdd
Hdl a7

Number of pairs of duplicated genes

Humber of pais of duplicated genes

[Question ID = 132][Question Description = 162_553_LSCC__Q62]
1. A-Gene duplication event, B-random loss of duplicated genes, C-remaining pairs of duplicated genesg D-additional gene duplication events

A-Siior sojferdiier acot, B-arejferfue Sfioil @1 siforifd i, C-smjferftea Siielf @ smafdrye Sits, D-sifeiaa Stior smpjferditier deos

[Option ID = 525]
2. A-remaining pairs of duplicated genes, B-gene duplication event, C-random loss of duplicated,genes;'D-additional gene duplication events

A-3rgjferfte Sfiolt @ srafsrie Sits, B-Shier sigjferdierer acor, C- sigjfetite Sfieil @1 siforifdr e, D- sifeif¥aa Siior srojferieror acoms

[Option ID = 526]
3. A-additional gene duplication events, B-random loss of duplicated genes, Csremaining pairs of duplicated genes, D- Gene duplication event

A-3ifei¥a Sfiet sigjferdirer @corme, B- sigjferftn Sfieil @1 siforifdr e, C-siogjferftasshelia safame sits, D-sfier sigjferdirer acom

[Option ID = 527]
4. A-Random loss of duplicated genes, B-additional gene duplication events; C-gene duplication event, D-remaining pairs of duplicated genes

A-3rojfetite Sitell @1 siforRIfdd cliu, B-aifeifym Shiel srojferierer aeoms, C-siiel sigfferierel acotr, D-rojferfte Sfioll @ srafdrye sis
[Option ID = 528]

63) A researcher working on island biogeograph¥mapped how isclation-controlled immigration
(1), and area-controlled extinctionsE)\will/act on number of species present on the islands.
He forgot to label the size of the islapds (small or large) and the location of the islands (near
or far) on the graph.

I(A) -0,

Rate =

Mumber of species present

Using information from MacArthur and Wilson's equilibrium theory, select the option that
correctly identifies A, B, C and D in the figure above.

g0 & Sayd R &1 He- aid Ue uddl 4 g8 ufaffa o 6 8 same-fafed
AR (1), TUT RF-FHaf=a @ae (), $0f R Sufed uoncdl & 980 W &1 &3 | 98
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Rate =

Mumber of species present

AmR aul fiemq & grga fUgia 3 Ga1 &1 I9ar &3¢ 34 f[dded &1 g41E &2 §f
s ST fem o a, 8, c 71 D & Tfi@ar 4 Rufd Txar gl

[Question ID = 133][Question Description = 163_553_LSCC__Q63]
1. A-large, B- small, C-near, D-far

A-fiorret, B- e, C-forpe, D-g2

[Option ID = 529]
2. A-small, B-large, C-far, D-near

A-c1g, B-faerer, C-gz, D-forwe

[Option ID = 530]
3. A-near, B-far, C-small, D-large

A-foroe, B-gz, C-crg, D-fdomet

[Option ID = 531]
4. A-far, B-near, C-large, D-small

A-gz, B-forme, C-fagre, D-cig
[Option ID = 532]

64) Given below are some terms and concepts related to phytoremediationin Column A and B

Column A Column B

A. Excluders I. Can absorb and transfer heavy'metals to aerial parts without phytotoxicity symptoms
B. Heavy metal protein transporter|ll. Salix sp. and Populus sp.

C. Hyperaccumulators lll. Transgenesis

D. High biomass, non-accumulators|lV. Can restrict heavy.metal'ions to the roots and detoxify them

Which one of the following options represents the most appropriate match of all terms/concepts in column A and B ?

Sl UIGUSUAR A IWWERIA BB 96g a1 Rigid e Aadn B d ygror fbu sRr 3

DIctH A prcd B

A.

(&2 IY T I. Qo ST @ crervil Riom it errqrai B sraonfiie wed arrdir sl 3 ALToTolkd w2 ABA 3
(Excluders)

B. arrdt errqg Arsorofier ll. 3iféranzt sp aem uigerT sp

C.

pifer -famard Ill. wesqufa (Transgenesis)

(Hyperaccumulators)

D.

e | Sffl, 3t IV. st enmpait arroit Y s1st & & uffa w2 Rrvswr o2 T 3
RIS

foretifipa @iol 21 vep fameu @t Aden B d Ru s ol orel/Rigidl & eR1 Sugama da @1 corfar 37

[Question ID = 134][Question Description = 164_553_LSCC__Q64]
1. A-1l,B-IV,C-1,D-1

[Option ID = 533]
2. A-1IL,B-1V,C-1I,D-I

[Option ID = 534]
3. A-IL,B-1,C-1V,D-1

[OptRpiPGANe Coaching of life science : visit: www.biologyscholar.com, or contact: +91-7021673266
4. A-IV,B-1l,C-1,D-1I

[Option ID = 536]



65) Given below are the vagigys prohe/ B T8y ECRRASPECHE" S GRS/ STAES Y3448 1) n the target protein.
A. CNBr I. -Asp-Ala-

B. Trypsin Il. -Phe-Ala-

C. Caspase 11l. -Met-Ala-

D. Chymotrypsin |IV. -Arg-Gly-

Which one of the following options represents the correct combination of items

it fafdreror Yiciar 9icol sifdrepaid> (prert X) den afdrd gicior d Iorad 3ifdrsirel el (brett Y) &l Ygrol fopar srn 3

Tt X 1t Y

A. CNBr I. -Asp-Ala-

B. fftarar Il. -Phe-Ala-

C. U=t lll. -Met-Ala-
D. a?lzafﬂifbaa‘lv. -Arg-Gly-

foretifca @iol A1 up fameu o X aen oA Y d R oKl foreril o1 1éls a1 ygfofa wean 3 ?
[Question ID = 135][Question Description = 165_553_LSCC__Q65]

A-11,B-11,C-1,D- IV [Option ID = 537]
A-1IV,B-1I,C-1,D - Il [Option ID = 538]
A-1IV,B-1,C-1Il,D- Il [Option ID = 539]
A-1II,B-1V, C-1,D - Il [Option ID = 540]

A W N -

66) Given below are a few terms related to map-based sequencing of genomes:
A. Partial digestion with restriction enzymes.
Assembly of contigs
Pulsed field gel electrophoresis
Cloning in cosmids/YACs/BACs
. Sub-cloning and sequencing
Which one of the following options represents the correct order of'steps (based on the above terms) in map-based
sequencing?

moow®

ofid oo foraoleret sficll & gferfrg-smenfea sioramgror o g 3 Gar sRIr 3:
A. gferderet doirsa 3 3iifdres ureer

B. ®ifocail @l uwblela @l

C. qUSE SieT JELADUI HereTol

D. wif3arsi/YACs/BACs 3 aeilolot

E. Su-weilelol ae 3o[@dIvT

foretifépa il A1 v frepea Yfeifig- sirenfa sioayavr i arull oI A8® @ (SuRlad fordolerell & 3meR uR ) corfar 3 ?

[Question ID = 136][Question Description = 166_553_LSCC__Q66]
1. C-B-D-E-A
[Option ID{=541]
2. C-A-D-B-E
[OptioniID = 542]
3. E-A-B=D-C
[Optien ID = 543]
4. A-C-B-D-E
[Option ID = 544]

67) Given below are a few statements on technologies/concepts related to development of transgenic plants:

A. Frequency of genetic transformation is influenced only by the genes of Agrobacterium and not by those of the host
plants.

B. Transgenic plants containing a single copy of the transgene are preferred over those that contain multiple transgene
copies for subsequent genetic analysis.

C. Supervirulent strains of Agrobacterium can be generated by increasing the copy number of virulence genes.

D. A-pereilifitotal ackatiyeofaiéstian aracker Wasitobanebestarilydisied witb arstrensceonstitutive pro0Rtad 7e0Be

development of transgenic plants.

Which one of the following options represents a combination of all INCORRECT statements?



visit: www.biologyscholar.com, or contact: +91-7021673266
ofl ursiicll ulell & faerT A Aafoera awolial/Rigial & e I o8 wusl o sk 3:

. 3ToIdfdres WUTGRYI bt 3mgfer dact Wopaferef=rer a Shiell 3 Yanfaa A 3 aer el diel & Silell 7 o8t
Seqaraddl s1rodfore faroreiaur @ e v wapel uRsilel Yferapfer Jwa ursilofl dlell @ ager ursilor gfermfer arcl &I qeronn 3 adler f sirar

@ >

. 39 (virulence) Sficil &6 gferapfer iz @1 agra: Wojafref=e & sifer 397 oricll @l Squola fopn s Jwar 3

. urRSilofl dlell @ fa®rRI @ 18 v gael Fa® IepIRIP D AT UD IRYNIGCRIAIHD SBUIIAIAD RV RIGIE® PI SIARIP WU A IURIIPT
s Strar 3

o 0N o

forpotifcea ol AT ub farmera Wsft s1eTa werell @ e oI gorfar 3 ?

[Question ID = 137][Question Description = 167_553_LSCC__Q67]
1. Aand D only

Dact A aen D

[Option ID = 545]
2. Conly

Dact C

[Option ID = 546]
3. Band Conly

Dact B aer C

[Option ID = 547]
4. Donly

Dact D

[Option ID = 548]

68) Consider the four results that were obtained from immupephaagtyping of human breast
cancer cells,

p—J

PE —anti CD24 3
PE—anti CD24 &

FITC — anti CD44 FITC — anthGDad

X2
*‘

b %,

PE=anti CD24 O
PES anti CD24 02

i
o
iy

5

e

FITC - anti CD44 FITC - anti CD44

Which on@ ofghe following options correctly depicts the above results?

UG g W PIADHIH & UFRATASUEY S0 ¥ U IR 9o &1 Gag &3

A, B.
a -
~
a
¥} o
H | .
i KA
[ [ .;?':.\.
FITC— anti CD44 FITC - anti CD44
C +]
= " &
g |tz a
- FCH =
g |-
1| S 1
Ellgisr &
._?:11 3
FITC = anti CD44 FITC = anti CD44
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[Question ID = 138][Question Description = 168_553_LSCC__Q68]
1. ‘B’ represents a plot that denoi@ﬁétﬁiyﬂwglﬁﬂgg‘x&%m@ﬁQQMn ere%a;a&t{cé'&aﬂg 021673266

‘B’ 331 8 @ gorfar 3 Sil b a8 Jfra B 3 b YT DR DI 3 DA Il PIUIBII bt vep Iqa yfererd 2

[Option ID = 549]
2. ‘D’ denotes a plot where dual positive cells predominate, representing the dead cells.

‘D’ 3 81 @1 grfar 3 S8t fEd ¢Ielgic PISIDBIS Adiferes 3, el I BIrDIil Bl foreftd Bt &

[Option ID = 550]
3. ‘A’ denotes a plot where only cells stained with CD44 and CD24 are observed.

‘A’ v i D getlar & S8t ddct CD44 aen CD24 SifiRfSia olfsiom &t fars Sa 8

[Option ID = 551]
4. ‘C’ represents a plot where only fibroblast cells are present.

‘C’ v 8iq @I galdl 3 SI8f dact dqyR],DISIPpTe & ulerd 8
[Option ID = 552]

69) A culture was started by inoculating the medium with 100 cells having a generation time of 2 hours. Assuming the
culture grows in ideal synchrony for at least 24 hours, what will be the number of cells in the culture at 2 hours and 9
hours?

I €l @ Siotol @Ict arcl 100 PIfIrbI3il DI U Jaeicl ATLIA I AANUUT BID TP JHaeicl DI ARSI [T SR AT ATGIDR b, A A 24 &l
@ feru Aaslor &f giy; ermiferd &, 2 guiei aen 9 aviel & uorard JHatlel 3 DIfIrmIsll b xR ar sPl?
[Question ID = 139][Question Description = 169_553_LSCC__Q69]
1. 2.0 x 102 cells, 1.6 x 103 cells, respectively.
2.0 x 102 pifdreprs, 1.6 x 103 DIfdIDIS, wFter:

[Option ID = 553]
2. 2.0 x 102 cells, 2.4 x 103 cells, respectively.

2.0 x 102 aifdrmrs, 2.4 x 103 DI, warer:

[Option ID = 554]
3. 2.0 x 10%cells, 3.2 x 103 cells, respectively.

2.0 x 10* @ifdrets, 3.2 x 103 aifdrnts, aier:

[Option ID = 555]
4. 2.0 x 10%cells, 1.6 x 108 cells, respectively.
2.0 x 10% ®ifdrms, 1.6 x 108 BIdrDIS, dvrer:

[Option ID = 556]

70) From the steps listed below, some are used tolevaluate the goodness of fit using the chi-
square test.
A. The mean, variance and standagd deviatibn are calculated
Ax; —§)*
)
Y.(observed — expected)?

B. Variance calculated using

C. Test statistic calculdted/USing

expected
D. The degree of fieedom®is calculated as n-1, where nis the  number of ways in which the
expected classes aselfree to vary
E. The probability, value is obtained

Whigh ane oPthe following options provides the correct sequence of steps in this statistical
analysis™

HHifdd feu 70 9l ¥, T8 &1 YN DIs-a7l WRIAT &1 UGN B YHeH-gegal Hyila
far smar g |

A HTeH, TERUT 91§19 faga- &1 T0ET &1 oAldl 6 |
B. % BT UG HIh YHL &I 0T ST AT & |
¢, Llobserved—expected)” w1 3upiny ghech Ul UidCalsl @& U] B S g |

sxpected

mgﬁgﬁ gé%%ééeﬁg B i T 0y bt corty o Siaat: +91-7021673266
E. MRl Ted U fea S & |




F=Tied @11 81U TGER R WEieIegy SERo18r Eor bPE St P90/ 837673266

[Question ID = 140][Question Description = 170_553_LSCC__Q70]
. A, C, D [Option ID = 557]
. C, D, E [Option ID = 558]
. B, A, D [Option ID = 559]
. A, D, E [Option ID = 560]

A W N -

71) Inverse PCR is performed for site-directed mutagenesis with complementary primers (having the desired mutation)
using a plasmid having the cloned gene as template. The following statements were made regarding the above experiment.

A. PCR is followed by transformation of bacterial cells directly with the reaction mixture. A large number of the
transformants will have the wild type gene.

B. The PCR mixture is treated with Dpn | and then used to transform bacterial cells. Most of the transformants will have the
mutant gene.

C. PCR is followed by transformation of bacterial cells directly with the reaction mixture. None of the transformants, will
have the mutant gene.

D. The PCR mixture is treated with Dpn | and then used to transform bacterial cells. Half of the transformants will have the
mutant gene.

Which one of the following options represents a combination of all correct statements?

foraret wperol DNA sicfuraria senf¥e Ferer-forSfora Saqui¥acdisiorer @ oigy 3 doirn srI, SRt IuRiler ud Sfiel,df Tep Udel rerdr oo
sRIfereriters st 1 uf¥afela ool 3 fopen sirar 3:

A. v ygaa (plasmid) 3 @it fipe 3R sfiet @1 Wuct (template) St SRIBT D, AAYPWD SUBIPID] BT GBI B (Rl aifda
Squf¥acor 3) yfercisr PCR o srR se1ad uorana sifsifepRn ifderg) A Silarvy wIfdra13il Bl YRS UlolrvI fip1I SR U Sg3ixa®
urolaf¥dl 3 doRr yeu Silor sisk

B. uas ygau 3 dcilol 55U 1Y Sflol @I FUGT SIAT IURNPT BID, IAYID UGB! DI GRilor B> (RBrmet aifdra squi¥ader 3) gfercier PCR fosn
srn aifdifepRn 2ifdsrel @I Dpn | 21 Iuanf¥a o R den fib2 Soro! SuRIBLsiany dIfIreIsi & Furearul 3 fopar SR sif2rpior Furelafdl 3
Iqufvafefa sfior a1

C. v ygg 3 acilol [pu 3RI Sflel @I FUGT SIAT ST DD, AAYID IUdaD] DI GRIPI B> (13 aifdra squf¥ade 3) gferciar PCR fepan
SRl 33D u9Lard 3ifdifepen 2ifdarg) A Sfiamw] BIrpI3il BI FUIGARYI b srRn  fip=il sft urerafedi 3 Squfsafeia stier ol alst

D. v ygau 3 mcilel fepu 3R Siiol @I UCT SIAT IURIIPI BID, HAYID JURPHDI DI Jel o (Rr1d qifda Saqui¥acdet 3) yferciar PCR o
srn Iifdrfepan 2Af3arel @I Dpn | 31 Sumniya fpar SR demith)3cId! SURIIST STaIv] BIfIIPI3il @5 WUTe[ARI 3 fbar SR 3M8l FUTolafsd
DIfdrep13il 3 Iquizafcia shior aIst

forarotifeoa dlal a1 vop faweu it I D Dol & Wet B gorfar & ?

[Question ID = 141][Question Description = 171_553_LSCC__Q71]
1. AandB

Acen B

[Option ID = 561]
2. AandD

Aqer D

[Option ID'=562]
3. Band.C

Beeen C

[Option ID'= 563]
4. Bonly

Dact B
[Option ID = 564]

72) The molecular ion peak [M] *of an analyte as measured by Electron lonization Mass
Spectrometry has an m/z of 149 and a relative abundance of 100%. The [M]* has a
relative abundance of 6.7% and the [M + 2] *peak has a relative abundance of 5%. The
abundance of the major isotope of H, C, N, O, and S are TH-100%, 12C-98.9%, 13C-1.1%, 14N-
99.6%, °N-0.4%, 1°0, 99.8%, °0-0.2%, 325-95.0%, *5-0.75 % and 35-4.2%. The most
prara0Blingdaacbing Rfdifesecienss.nyisit: www.biologyscholar.com, or contact: +91-7021673266
U 3adeH A soaHH Wagaifd 3 okfd te Iwaf &1 ofas s R Mm)-+
BB m/z 149 gﬁ‘lﬂ 100% BT & HTUfE® Sgardr © | | MM} * FTTB 6.7% ATfEs

R R S BT e by - SU T P T Lt L 0 L o SRR sy B e 2 PR T T T AR, Ui Lriin




Selddl dXl M+ M+ 2] ° W KUY o% Wil Splidl & 1M, L N, U U=l 5 W FssH
JAIAE ® 9gadl visibosmpwcbielogySchotar,. Comgoseoftactass 9y 02 867 3266
0.2%, 325-95.0%, 335-0.75 TUT 345-4.2% & | Aifile @1 Wad TR1fad 3fids T E |

[Question ID = 142][Question Description = 172_553_LSCC__Q72]
1. C; H,;N,0.
[Option ID = 565]
2. C,H,,NO,S.
[Option ID = 566]
3. CgHy3 0,8,
[Option ID = 567]
4. C,H,; NOS

[Option ID = 568]

73) Which one of the statements given below regarding generation of monoclonal antibodies is INCORRECT?
wpaclofl gfereiRil @ Iquice @ eelel 3 foretifipa wblol AT Ud Dol el 37

[Question ID = 143][Question Description = 173_553_LSCC__Q73]
1. Monoclonal antibodies are the product of a single stimulated B-lymphocyte.

ubdciloll YfersfRil v varet IqURa B-cRftwrmifdieT ot 3quie &

[Option ID = 569]
2. To generate large quantity of monoclonal antibodies, a normal stimulated antibody producing B cell is, fused with a long lived B cell tumor.

uabdciioll gferefi i ygR A 3 3aurcer @ 1w, ve ARICRT AR YftRen 3auicd B ifdier ot Sifsiidt B Biforsnsrdg) 3L 2icerol BRI SIT 3

[Option ID = 570]
3. The hybridoma generated for antibody production is selected on HAT medium.

yfersfl 3aurcel @ few foifdta Jimrds (hybridoma) @1 gotra HAT aimerpt w foper St &

[Option ID = 571]
4. For HAT selection of hybridoma, the antibody producing B-cells are pre-treated with 8-azaguanine to block salvage pathway of DNA synthesis.

Jipads @ HAT a=rel @ o, DNA 2ioeiuul & BRIARYI el ol SaRIfed ol @ e YfeReH 3aulced B-plfSraiil ! 8-usiepnioret 3 gd- 3uanid fipar St 8

[Option ID = 572]

74) Optical remote sensing has been increasingly used to monitor vegetation globally. The table below lists different regions
of the electromagnetic radiation (EMR) spectrumsas well as different vegetation characteristics:

List | List Il

Part of the EMR spectrum egetation characteristics

A. Ultraviolet I. Plant water content

B. Visible Il. Foliage density

C. Near Infrared Ill. Plant photosynthetic pigments
D. Shortwave Infrared

Which one of the following combinations correctly matches the EMR region with the vegetation character analysed:

ferora Rl 37U A gelRUlc yatier ur forRIel el @ fe1e 1ol g3 Adest I Sgared A YRIBI 3idl & oii<d Ygrel ol sRil &l feagaadin
fafeseur (EMR) quiegsr o1 fafSrerer ygie 2mer & wirer fafdorer aorrqufer yasler sif$rargion w1 gorfar 3:

il eidll

EMR auicgai @1 8111 [aoerrqufer yaelor sifdrererot

A. ORTdsTelt |. gerequfer siafdue star & #|
B. Zopr Il. uviags =@orq@

C. forpe sraraya lll. urcu yororRiordl quf @

D. c1g 31 sraeapda

forpotifcoa ol A1 v faaeu EMR 8iqgi @1 faorciftia aorpufa yaska siféreigvil A 8@ Acr waar 37
[Question ID = 144][Question Description = 174_553_LSCC__Q74]

1. A-1,B-1I, C - Ill [Option ID = 573]
2. A-1,B-1ll, C- Il [Option ID = 574]
3. B-1l,C-1ll, D - | [Option ID = 575]
4. B-1Il,C-1l,D -1 [Option ID = 576]

75) Pichia pastoris is a good host for producing human proteins for therapeutic use. Given below are some statements on

th it ility., . . . .. .
¢ reﬁsgpbfﬁﬂhé lo'é'chmg of life science : visit: www.biologyscholar.com, or contact: +91-7021673266
A. It produces large amount of recombinant protein.

B. It has the property of secreting proteins into the medium.



C. It allows the formation of disulphide bonds similar to those in humans.
visit: www.biologyscholar.com, or contact: +91-7021673266
D. It carries out protein glycosylations identical to those found in humans.

Which one of the following options represents a combination of correct statements?

diferi ur{elf3?1 IURIRIAFH® IURIPI @ fére drora Yiclell @ IAuIce] 3d b Bl Ul 3 31 SWRIRPKI @ PRuI @1 gofal & fere ofia
©B D6l Ygld fpu 3R 3
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